
CHEMISTRY

BOOKS - CENGAGE CHEMISTRY (ENGLISH)

QUALITATIVE INORGANIC SALT ANALYSIS

Illiustration

1. a.  is yellow in aqueous solution but on passing  gas,

solution turns green. Example.

b. An aqueous solution of , (orange) changes to yellow. Can

you explain?

c. Potassium permanganate is purple in colour .On adding KOH, it turn

into green, What is the compound formed?

d. A metallic statue under acid-rain attack turns to blushing -green

colour .What can be the probable metal and salt formed ? 

FeCI3 H2S

K2Cr2O3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EsfQ1F5odwe7


e. Oil painting turn blackish after some time , What is the salt formed ?

Assume oil paint contains 

Watch Video Solution

Pb2 +

2.  and  both turn line water mily how will you detect the

present if turn both are present in a mixture ?

Watch Video Solution

CO2 SO2

3. a. While testing oxalate, gas obtained burns with a blue flame intially

but is put off instantly even as gas appears coming. Explain. 

b.  also interfere in the 'Ring Test' of  suggest a chemical

reagent that removed 

Watch Video Solution

I Θ NOΘ
3

I Θ

https://dl.doubtnut.com/l/_EsfQ1F5odwe7
https://dl.doubtnut.com/l/_ZrwRM2D4sC4N
https://dl.doubtnut.com/l/_ddciTvIfE43u


4. a.(A)  yellow ppt . (B)


(A)  brown vapours intensifield with cu- turnings.


(B) dissolves in lypo forming a soluble complex (C ) what are (A),(B) and

(C ) and explain their reactions ? 

b.  and  both give while ppt with  solution .How is 

 detected in presence of ?


c.  idenity (A)

and (B) 

d. (A)  


Gas (B) turns  solution green Aq solution of (A) 

 while ppt .(C ) 


Filltrate after removing (C)  water rarr while ppt` dissolve in

qammon ium acetate solution Example.

Watch Video Solution

+KBr →

+conc. H2SO4

Δ
−−→

SO2 −
3 SO

2 −
4 BaCI2

SO2 −
3 SO

2 −
4

Na2B4O7.10H2O + conc. H2SO4

Δ
−−→ (A)

CH2OH Δ
−−−−−→ (B)

+diiH2SO4

Δ
−−→ gas(B)

K2Cr2O7 /H Θ

+BaCI2 →

+Br2

https://dl.doubtnut.com/l/_tcsLI5Llh4S9


5. Colourless salt  White ppt. (B) 





Iidentify (A),(B),(C ) and (D)

Watch Video Solution

(A)
dil .HCI
−−−−→

6. Complete the reaction:


Quick lime + Water = ______


Brine solution (Electrolysis)=__

Watch Video Solution

7. Salt (A) makes part of electrode and is insoluble in water (A) is

blackened by  forming (B),(B) is soluble is equa regia forming (C ),NH3

https://dl.doubtnut.com/l/_t6Y0baUxG08K
https://dl.doubtnut.com/l/_Qufnkg28bTcv
https://dl.doubtnut.com/l/_Azb6ss9gpM8B


(C ) gives orange ppt with  but ppt dissolves in extcess of 

forming (D ) , identify (A),(B),(C ) and (D)

Watch Video Solution

KI KI

8. If  both are present , it is difficult to outline a

scheme to analyes in a mixture

Watch Video Solution

Cu2 + and Cd2 +

9.  is soluble in aqua regia forming . What happens if Cu

turnings are added to ?

Watch Video Solution

HgS HgCl2

HgCl2

10. Identify (A),(B),(C ),(D) and (E ), (A) (black) 

(solution)  (C ) (gas) ( C) turns lead aceetain paper black , (B) gives

orange ppt (D ) solution in excess of  forming (E ).

+dilHCI
Δ

−−→ (B)

+

KI

https://dl.doubtnut.com/l/_Azb6ss9gpM8B
https://dl.doubtnut.com/l/_MYO3BnCPYbcU
https://dl.doubtnut.com/l/_1v4ABCWBhsiZ
https://dl.doubtnut.com/l/_KIg6e9LjBwA8


Watch Video Solution

11. Sometimes it happens that when  gas is passed into solution in

dii,  yellowish white turbility appears .What do you conclude ?

What preperation are takes to check this turbidity?

Watch Video Solution

H2S

HCI

12. IIB (arsenic group ) sulphides are solution in  if cone 

isadded to this soluble portion colour red ppt are formed Write

reaction

Watch Video Solution

YAS HCI

13. Light green solution of (A) does not give blue coloured ppt . With

 but on adding a drop of  blue ppt .(B) appearsK4[Fe(CN)4] HNO3

https://dl.doubtnut.com/l/_KIg6e9LjBwA8
https://dl.doubtnut.com/l/_vx6xs7s3e6bd
https://dl.doubtnut.com/l/_h1NT2JEJkpeT
https://dl.doubtnut.com/l/_vJB6Oh4c4gpj


.However (A) gives blue colour (C ) with  Identify (A) if it,

also gives white ppt with AgNO 3
​
solution?

Watch Video Solution

K4[Fe(CN)6]

14. There is no limitation of Modern periodic table. True/False

Watch Video Solution

15. State True/False. 

The atomicity of Sulphur is 4

Watch Video Solution

16. (A) (colourless solution ) gives white ppt (B) with  solution

but ppt dissolves in excess of  forming (C ). (C ) does not give

ppt with  but on boiling with , white ppt (B) appears. (A)

also gives yellow ppt with  identify (A),(B) and (C )

NaOH

NaOH

H2S NH4CI

AgNO3

https://dl.doubtnut.com/l/_vJB6Oh4c4gpj
https://dl.doubtnut.com/l/_CJqFcuuRllwG
https://dl.doubtnut.com/l/_JOCzZX0Y5CTr
https://dl.doubtnut.com/l/_MUMno08gbLMx


Watch Video Solution

17. Test tube (A) contains aqueous zinc acetate solution while test tube

(B) contains aq, zinc chloride solution .What happens if  gas is

passed into each solution ?

Watch Video Solution

H2S

18. Colourless solution of (A) gives white ppt (B) with which is

soluble in aqueous  (A) also gives white ppt (C) with 

soluble in excess of it forming (D). (D) gives ppt (E) with . Identify

(A),(B),(C),(D) and (E).

Watch Video Solution

AgNO3

NH3 NaOH

H2S

19. yellow ppt, what can be 


a. If it is soluble in hot water? 

MCI2 + K2CrO4 → MCI2

https://dl.doubtnut.com/l/_MUMno08gbLMx
https://dl.doubtnut.com/l/_8DrKFYcrPVvw
https://dl.doubtnut.com/l/_BESBzmCiT01g
https://dl.doubtnut.com/l/_8oPoYowkTdm3


b. If it gives green colour in flame ?

Watch Video Solution

20.  


What is A?

Watch Video Solution

21.  is insoluble but is not precipitated when excess of 

 is added to . Explain

Watch Video Solution

CaSO4

(NH4)2SO4 CaCl2

https://dl.doubtnut.com/l/_8oPoYowkTdm3
https://dl.doubtnut.com/l/_mE9IWCGiWUv8
https://dl.doubtnut.com/l/_BgfQQVNKfNrY


22. State True/False

Melting of ice is Exothermic process.

Watch Video Solution

23. (i) Write a balanced chemical equation for process of

photosynthesis.
 (ii)When do desert plants take up carbon dioxide and

perform photosynthesis?
Answer.

Watch Video Solution

24. A compound (X) imparts a golden yellow flame and shows the

following reactions :
(i) Zinc powder, when boiled with the concentrated

aqueous solution of (X) dissolves and hydrogen, is evolved.
(ii) When an

aqueous solution of (X) is added to an aqueous solution of stannous

chloride, a white precipitate is obtained first which dissolves in excess

of solution of (X)
Identify (X) .

https://dl.doubtnut.com/l/_lx747OqKMaof
https://dl.doubtnut.com/l/_jFm9Exy2rib7
https://dl.doubtnut.com/l/_tOg3SclUjbDg


Solved Example

Watch Video Solution

1. Name the reducing agent in the following reaction:
 3MnO2 + 4Al

———— > 3Mn + 2Al2O3
 State which is more reactive, Mn or Al and

why?

Watch Video Solution

2. .Give reason for the following:
(a) School bells are made up of metals.

(b) Electric wires are made up of copper.

Watch Video Solution

3. (A) as important laboratory reagent, turn red litmus blue imparts

golden yellow colour in flame and is a gas precipitating agent, (A)

https://dl.doubtnut.com/l/_tOg3SclUjbDg
https://dl.doubtnut.com/l/_ZkRzPF8nkpwK
https://dl.doubtnut.com/l/_GdyDEMZeTwKh
https://dl.doubtnut.com/l/_fw1oT2awn8bg


reacts with  or AI forming gas(A) gives while ppt with 

 but ppt . Diwsolves in exces of (A), what is (A) and

explain reaction

Watch Video Solution

Zn H2

ZnCI2 or AICI3

4. Identify(A) based on following facts : 

a.  reduces  solution to white ppt. charging to grey . 


b. (A) turns  yellow colured solution to green . 


c. (A) give white ppt, with  soluble in excess of  . 

d. (A) gives yellow dirty ppt. on passing  gas , soluble in yellow

ammonium sulphjde (YAS). 

e. (A) gives chromyl chloride test .

Watch Video Solution

A HgCl2

FeCl3

NaOH NaOH

H2S

5. Write the chemical equation of the reaction in which the following

changes have taken place with an example of each: (i) Change in colour

https://dl.doubtnut.com/l/_fw1oT2awn8bg
https://dl.doubtnut.com/l/_6rA9gEM74GUW
https://dl.doubtnut.com/l/_NBkXNBN7x1DI


(ii) Change in temperature

Watch Video Solution

6. 2g of ferrous sulphate crystals are heated in a dry boiling tube.
(i) List

any two observations.
 (ii) Name the type of chemical reaction taking

place.
(iii) ‘Write the chemical equation for the reaction.

Watch Video Solution

7. Name one common reagent that can precipitate or react and

differentate following pairs:

a.  and  


b. 

Watch Video Solution

AgΘ B2 +

Cu2 + , Pb2 +

https://dl.doubtnut.com/l/_NBkXNBN7x1DI
https://dl.doubtnut.com/l/_rXH9vI6YnWUS
https://dl.doubtnut.com/l/_nYXJXPkaMbdd


8. What single reagent solution (including  could be used to

effect the separation of the following of solides? 

a.  


b. 

Watch Video Solution

H2O)

Ni(OH)2 and Fe(OH)2

Cr2O3 and Fe(OH)3

9. A solution may contain any of the following ions:

 Based on the experiment and result

therein , which of the ions would be present? Indicate any wrong

infornation if any…..

a. The original solution is treated with with (a subestitate is

obtain 

b. The ppt for (a) dissolves in regain 

c. The fitrate after sepration ppt in (a) is treated with  and 

A dark ppt , is separate filtrate is colourless.

e. The solution from (d) is turned with aq  A dark ppt forms 


Fe2 + , Ni2 + , Cr3 + , Zn2 + , Mn2 +

(NH4), S

NaOH H2O2

NH3

https://dl.doubtnut.com/l/_q0jvpLWQETy5
https://dl.doubtnut.com/l/_rgCBerZxJONL


f. The ppt from (e) is solution in  (aq) and solution develops an

latense red colour when treated with  (aq)

Watch Video Solution

HCI

SCN Θ

10. Decomposition of Silver chloride is an exothermic reaction.

True/False

Watch Video Solution

11. Identify (A) to (G) in the following scheme and name the process.




 


 


Watch Video Solution

CaCO3

Δ
−−→ (A) + (B)gas, (A) + H2O → (C)

(C) + B → CaCO3 + H2O(D) + (C)
Δ

−−→ (E)gas

(E) + H2O + (B) → (F ), NaCI + (F ) → (G) + (D)

(G)
Δ

−−→ Na3CO3 + H2O + (B)

https://dl.doubtnut.com/l/_rgCBerZxJONL
https://dl.doubtnut.com/l/_SCQLfNLEGJTg
https://dl.doubtnut.com/l/_WgJBk28F3TH8


Exercises (Linked Comprehension)

1. State True/False.
Evaporation is Exothermic process.

Watch Video Solution

2. Solid (while turbity which redissolves in HCI) 


 


Identify B

A. BiOCI

B. 

C. 

D. None of these

A + H2O → (B)

BaS

BaCI3

https://dl.doubtnut.com/l/_gnSvsvBmBcjK
https://dl.doubtnut.com/l/_QVCtMWsDzMXw


Answer: a

Watch Video Solution

3. Solid (while turbity which dissolves in HCI) 





Identify C

A. BiOCI

B. 

C. 

D. 

Answer: b

Watch Video Solution

A + H2O → (B)

Bi2S3

BiCI3

H2S

https://dl.doubtnut.com/l/_QVCtMWsDzMXw
https://dl.doubtnut.com/l/_I4G9sDXLgHnh


4. Solid (while turbity which redissolves in HCI) 





Identify D

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

A + H2O → (B)

Br2

HCI

I2

CI2

https://dl.doubtnut.com/l/_I4G9sDXLgHnh
https://dl.doubtnut.com/l/_2YrBPmfLIzA2


5. Solid (while turbity which dissolves in HCI)





Identify E

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

A + H2O → (B)

Hg2(NO3)2

HCI

Hg2CI2

HNO3

https://dl.doubtnut.com/l/_32jEGiT1ICM5


6. 


Identify compound A

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

ZnSO47H2O

FeSO47H2SO4

MgSO47H2O

CuSO4SH2O

https://dl.doubtnut.com/l/_AnUV98Q2zQ3o


7. 


Gases C and D are

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

SO2, SO3

SO3, CO2

NO2, MgO

ZnO, SO3

https://dl.doubtnut.com/l/_DXwEGDrztt2a


8. 


Identify yellow solution F

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Fe2O3

FeCI2

ZnCI2

CuCI

https://dl.doubtnut.com/l/_oWAGqy2Mhd4P


9.

A. 

B. ZnS

C. S

D. FeS

Answer: c

View Text Solution

SiO2

10. 


Identify X

A. CuSO4

https://dl.doubtnut.com/l/_dHLQs61ujrMI
https://dl.doubtnut.com/l/_XeLCRtPGP3Kr


B. 

C. 

D. Nal

Answer: a

Watch Video Solution

BaSO4

BaCI2

11. 


What is the formula of chocolate coloured ppt ?

A. 

B. 

C. 

D. 

Fe4[Fe(CN)6]

Cu2[Fe(CN)6]

Cu4[Fe(CN)6]

Cu(CN)2

https://dl.doubtnut.com/l/_XeLCRtPGP3Kr
https://dl.doubtnut.com/l/_YoXVX2ik0kfL


Answer: b

Watch Video Solution

12. 


What is the formula of brown ppt ?

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

Cu2I2

Cu2I2 + I Θ
3

CuI2

CuSO4

https://dl.doubtnut.com/l/_YoXVX2ik0kfL
https://dl.doubtnut.com/l/_mcF3geeOS2nH
https://dl.doubtnut.com/l/_JuyZeDwZpBkY


13. 


Identify C

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

[Fe(H2O)5NO]SO4

Na2SO4

Na2[Fe(CN)2NO]

Fe[Fe(CN)6]
3

https://dl.doubtnut.com/l/_JuyZeDwZpBkY


14. 


Identify B

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

ZnSO4

CuSO4

MgSO4

FeSO4

https://dl.doubtnut.com/l/_nVLiPHrGT6FR


15. 


Identify D

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

ZnO

FeO

Fe2O3

CuO

https://dl.doubtnut.com/l/_hyoZcmmFcKH5


16. 


Compound (A) is

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

HgI2

K2HgI4

Hg(NO3)2

Hg(NO3)2

https://dl.doubtnut.com/l/_InWb0oczTZPW


17. 


Oxidation state of Fe in compound (F) is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

+1

+2

+3

+4

https://dl.doubtnut.com/l/_rXUpK996ikKv


18. 


 brown ppt (G) 


Hence, compound(G) is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

(D)
in basic medium

+ (NH4)2SO4 →

HgI2

NH4I

Hg(NH2)I

https://dl.doubtnut.com/l/_gGwbOIOLp8iH


19. 


What ppt (B)  Black ppt . (H). 


Hence, (H) is due to the formula of

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

+NH3 →

Hg(NH2)CI

Hg

Hg(NH2)CI + Hg

Hg(NH2)

https://dl.doubtnut.com/l/_4oAvmib1oMJ8


20. 


Gas (B) on passing through  solution will give

A. Black ppt

B. yellow ppt

C. orange ppt

D. No ppt

Answer: b

Watch Video Solution

CaSO4

https://dl.doubtnut.com/l/_rfpPSdU1aMkR


21. 


Compound (A),(B) and(E ) are respectively

A. 

B. 

C. 

D. 

Answer: b

CuS, H2S, SO2

PbS, H2S, SO2

PbS, H2S, SO3

ZnS, H2S, SO2

https://dl.doubtnut.com/l/_rfpPSdU1aMkR
https://dl.doubtnut.com/l/_jUYbgwL02n7u


Watch Video Solution

22. 


Compound (C ) and (D) are respectively

A. 

B. `PbCI_(2) , PbO

C. 

D. 

PbO, PbCI2

PbO, PbO2

PbS, PbO

https://dl.doubtnut.com/l/_jUYbgwL02n7u
https://dl.doubtnut.com/l/_KxKpIKafLgas


Answer: b

Watch Video Solution

23. i.(A)  While fumes. 

ii. After (B) is expelled completely, resultant alkline solution again gives

gas (B) on heating with zine 

iii.(A)  


Identify A

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

NaOH
−−−→

Δ
(B)(g)

HCI
−−→

Δ
−−→ N2O + H2O

NH4NO2

NH4NO3

HCI

NaSO4

https://dl.doubtnut.com/l/_KxKpIKafLgas
https://dl.doubtnut.com/l/_fJLmJfRPG4H5


24. i.(A)  While fumes. 

ii. After (B) is expelled completely, resultant alkline solution again gives

gas (B) on heating with zine 

iii.(A)  


Identify B

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

NaOH
−−−→

Δ
(B)(g)

HCI
−−→

Δ
−−→ N2O + H2O

SO2

NH3

N2O

NO2

25. i.(A)  While fumes. 

ii. After (B) is expelled completely, resultant alkline solution again gives

NaOH
−−−→

Δ
(B)(g)

HCI
−−→

https://dl.doubtnut.com/l/_epoKVEVXtWZT
https://dl.doubtnut.com/l/_Z8t10rADX1fA


gas (B) on heating with zine 

iii.(A)  


What is the formula of white fumes?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Δ
−−→ N2O + H2O

NH4NO3

NH4CI

NH4NO2

NH3

https://dl.doubtnut.com/l/_Z8t10rADX1fA


26. 


Identify A

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

FeSO4

Fe(SO4)3

Fe2O3

FeO

https://dl.doubtnut.com/l/_bKnKjsxC9dBE


27. 


What is the formula of brown ppt?

A. 

B. 

C. 

D. None of these

Answer: a

Watch Video Solution

Fe(OH)3

Fe(OH)2

FeCI3

https://dl.doubtnut.com/l/_SWY2eDB7buxR


28. 


Which of the following complex is formed when A reacts with

?

A. Prussian blue

B. Turnbull's blue

C. Brown ring complex

D. Sodium mitroprusside

Answer: a

Watch Video Solution

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_GdT2ghqFNC0y


29. 


Identify A

A. ZnS

B. ZnO

C. MgO

D. FeO

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_rJtbsQNEsRuG


30. 


Identify B

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

FeCI2

NiCI2

ZnCI2

FeCI3

31. Give IUPAC name of K2[Zn(OH)4]

https://dl.doubtnut.com/l/_XNNivdgU1jFa
https://dl.doubtnut.com/l/_5H7pqL0DMwlY


Watch Video Solution

32. 


Identify D

A. ZnO

B. ZnS

C. FeO

D. FeS

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_5H7pqL0DMwlY
https://dl.doubtnut.com/l/_4eg2Ud4DAHEv


33. 


Identify A

A. 

B. 

C. 

D. None of these

Answer: c

Watch Video Solution

AICI3

Cr(OH)2

CrCI3

https://dl.doubtnut.com/l/_AEQyPGdltDee


34. 


Identify B

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

CrC13

Cr(OH)3

Mn(OH)2

CrO2 −
4

https://dl.doubtnut.com/l/_5c5CgDG8vBwY


35. 


Identify C

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Na2Cr2O7

Na2CrO4

Na2MnO4

NaMnO4

36. Complete the following chemical reactions.
 (i) PbS(s)+H 2
 ​
 O 2
 ​

(aq)→
(ii) MnO 4
−
​
(aq)+H 2
​
O 2
​
(aq)→
(iii) CaO(s)+H 2
​
O(g)→

Watch Video Solution

https://dl.doubtnut.com/l/_sV3CMjTUZxAX
https://dl.doubtnut.com/l/_rHnTeoMT2bOC


37. 


Identify A

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

Fe(NO2)
3

ZnBr2

FeBr3

ZnCI2

https://dl.doubtnut.com/l/_rHnTeoMT2bOC
https://dl.doubtnut.com/l/_2wbZEYWhkpFg


38. 


Identify B

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

CI2

Br2

NO2

I2

39. 


Identify C

https://dl.doubtnut.com/l/_9Bx7DpQVtoRl
https://dl.doubtnut.com/l/_YVuoHWDPrE9O


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

Fe(OH)3

Fe2O3

FeO

FeS

40. 


Identify A

A. 

B. 

C. 

AgCI

AgF

AgBr

https://dl.doubtnut.com/l/_YVuoHWDPrE9O
https://dl.doubtnut.com/l/_NUgWBmOuUkC6


D. None of these

Answer: c

Watch Video Solution

41. i.(A)  glassy traparent beat (B) on platinum wire 


(B)  coloured bead(C )


ii  green flame 

iv.Aqueous solution (A) is alkline 

Identify A .

A. 

B. 

C. 

D. None of these

Answer: b

Δ
−−→

+CuSO4 →

(A)
(D )

+ conc. H2SO4 + CH3CH2OH
ignite
−−→

NaNH4HPO4.4H2O

Na2B4O7.10H2O

CuSO4. SH2O

https://dl.doubtnut.com/l/_NUgWBmOuUkC6
https://dl.doubtnut.com/l/_2Gvf07s2uzid


Watch Video Solution

42. i.(A)  glassy traparent beat (B) on platinum wire 


(B)  coloured bead(C )


ii  green flame 

iv.Aqueous solution (A) is alkline 

Identify (B) .

A. 

B. 

C. 

D. None of these

Answer: c

Watch Video Solution

Δ
−−→

+CuSO4 →

(A)
(D )

+ conc. H2SO4 + CH3CH2OH
ignite
−−→

NaPO3

NaBO2

NaBO2 + B2O3

https://dl.doubtnut.com/l/_2Gvf07s2uzid
https://dl.doubtnut.com/l/_erNq8gk2W0Ve


43. i.(A)  glassy traparent beat (B) on platinum wire 


(B)  coloured bead(C )


ii  green flame 

iv.Aqueous solution (A) is alkline 

Identify AC.

A. 

B. 

C. 

D. None of these

Answer: c

Watch Video Solution

Δ
−−→

+CuSO4 →

(A)
(D )

+ conc. H2SO4 + CH3CH2OH
ignite
−−→

Cu3(PO4)2

CuSO4

Cu(BO2)2

44. i.(A)  glassy traparent beat (B) on platinum wire 


(B)  coloured bead(C )


Δ
−−→

+CuSO4 →

https://dl.doubtnut.com/l/_BMiyJyjwmdpd
https://dl.doubtnut.com/l/_807RrSpRaH8l


ii  green flame 

iv.Aqueous solution (A) is alkline 

Identify D.

A. 

B. 

C. 

D. None of these

Answer: b

Watch Video Solution

(A)
(D )

+ conc. H2SO4 + CH3CH2OH
ignite
−−→

(CH3)3BO3

C2H5)3BO3

H3BO3

45. A colourless mixture of two salts (A) and (B) [excess] is soluble in

. 
H2O

https://dl.doubtnut.com/l/_807RrSpRaH8l
https://dl.doubtnut.com/l/_kSlkhsQvdAJg





Identify A

A. 

B. 

C. 

D. None of these

Answer: a

Watch Video Solution

AICI3

ZnCI2

FeCI3

https://dl.doubtnut.com/l/_kSlkhsQvdAJg


46. A colourless mixture of two salts (A) and (B) [excess] is soluble in

. 


Identify B

A. 

B. 

C. 

D. None of these

Answer: c

Watch Video Solution

H2O

AI(OH)
3

Zn(OH)
2

NaOH

https://dl.doubtnut.com/l/_FaKnLXLsmiQR


47. A colourless mixture of two salts (A) and (B) [excess] is soluble in

. 


Identify C

A. 

B. 

C. 

D. None of these

Answer: b

Watch Video Solution

H2O

Na2ZnO2

NaAIO2

NA2SnO2

https://dl.doubtnut.com/l/_pcwVWl2cC5ZY


48. 


Find the anion (s)

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

SO2 −
3

S2 −
3 , S2 −

SO2 −
3 , CO2 −

3

S2O
2 −
3

https://dl.doubtnut.com/l/_zp4Cv1jmrbSM


49. 


Find out (E )

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

S2 −

CO2 −
3

S2O
2 −
3

SO
2 −
4

https://dl.doubtnut.com/l/_myF05GtEwKY9


50. 


Find out (F)

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

HgSO4.2HgO

HgSO4.3HgO

HgSO4

Hg2SO4.3HgO

https://dl.doubtnut.com/l/_TQBlXtXqcI7o


51. Cations are classified into varius group on the basis of their

behaviour against some reagents .The group reagent used for the

classifaction of most common cation are

. Classification is based on whether

a cation reacts with these reagents by the formation of precipitates or

not .

Which one among the following paires of ions cannot be separated by

 in the presence of dilute hydrochloric acid ?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

HCI, H2S, NH4OH, (NH4)2CO3

H2S

Bi2 + , Cd2 +

AI 2 + , Hg2 +

Zn3 + , Cu2 +

Ni2 + , Cu2 +

https://dl.doubtnut.com/l/_Nmk1tITfCvoG
https://dl.doubtnut.com/l/_BKd9GdWstUaM


52. Cations are classified into varius group on the basis of their

behaviour against some reagents .The group reagent used for the

classifaction of most common cation are

 Classification is based on whether

a cation reacts with these reagents by the formation of precipitates or

not .

An aqueous solution contain .THe addition of 

 will procipitate.

A. only

B. 

C.  and 

D.  and 

Answer: c

Watch Video Solution

HCI, H2S, NH4OH, (NH4)2CO3

Hg2 + , Hg2 +
2 , Pb2 +

2MHCI

HgCI2

PbCI2only −

PbCI2 Hg3CI2

PbCI2 CdCI2

https://dl.doubtnut.com/l/_BKd9GdWstUaM


53. Cations are classified into varius group on the basis of their

behaviour against some reagents .The group reagent used for the

classifaction of most common cation are

. Classification is based on whether

a cation reacts with these reagents by the formation of precipitates or

not .

An aqucous solution which is sightly acids contains cattions

. THe rengent added in excess to this solution

would identify the separate  ion in one step is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

HCI, H2S, NH4OH, (NH4)2CO3

Fe2 + , Zn2 + and Cu2 +

Fe2 +

2MHCI

6MNH3

6MNaOH

H2Sgas

https://dl.doubtnut.com/l/_scOtN3ERXlCD


54. The reagents like 

Nessler's ect, find extenstive and very important applicasion in

quentitative analysis because these resgents form different type of

produce with different cation for axample  form yellow precipitate

with  but at form red iprecipitate with  , Hence these

reagents are widely used in the quantitative amalysis of morgenic salts 

Which of the following is not currectly matched ?

A. white ppt.

B.  Black perecipitate

C.  orange turbidity

D.  white precipitate

Answer: b

Watch Video Solution

AgNO3, K4[Fe(CN)6], KCNS, KI, K2CrO4

KI

Pb2 + Hg2 +

Ag⊕ + S2O
2 −
3 →

Pb2 +
( aq )

2CI Θ
( aq )

→

Bil3(Black preciplate) + H2O(1)
Δ

−−→

Ca2 +
( aq )

+ K4[Fe(CN)6]
aq

→

https://dl.doubtnut.com/l/_opryb1MYT4H6


55. The reagents like 

Nessler's ect, find extenstive and very important applicasion in

quentitative analysis because these resgents form different type of

produce with different cation for axample  form yellow precipitate

with  but at form red iprecipitate with  , Hence these

reagents are widely used in the quantitative amalysis of morgenic salts 

Which of the following cation (i.e. basic radicals) forms coloured (not

white) percipitates with aqueous solution of potassium iodide the

precipitete does not dissolve is exiess og reagent?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

AgNO3, K4[fe(CN)6], KCNS, KI, K2CrO4

KI

Pb2 + Hg2 +

Hg2 +

Hg2 +
2

Bi3 +

Cu2 +

https://dl.doubtnut.com/l/_DaBFArmBlJYk


56. The reagents like 

Nessler's ect, find extenstive and very important applicasion in

quentitative analysis because these resgents form different type of

produce with different cation for axample  form yellow precipitate

with  but at form red iprecipitate with  , Hence these

reagents are widely used in the quantitative amalysis of morgenic salts 

Which of the following hydroxide does not dissolve in ammounium

solution but disolves in sodium hydroxide ?

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

AgNO3, K4[Fe(CN)6], KCNS, KI, K2CrO4

KI

Pb2 + Hg2 +

Zn(OH)2

Cd(OH)2

Cu(OH)2

AI(OH)3

https://dl.doubtnut.com/l/_wSyxYBCSoDKH
https://dl.doubtnut.com/l/_FwwPCJu3L2ah


57.  solution was added to four semple solution in difference test

tube and found the following observation about the precipitate.

a. White ppt which is solution in oxcess of  solution 


b.On heating which is white in cold but yellow on heating 

c. The cation present in (b) forms white ppt , with hypo solution which

give black ppt on heating 

d. The cation present in (c ) forms soluble complex with excess of 

solution 

White ppts in (a),(b) and (c ) respectively obtained are

A. 

B. 

C. 

D. 

Answer: a,b

Watch Video Solution

NH3

NH3

NH3

Zn(OH)2, Zn(OH)2, HgOHg(NH2)NO3

Cd(OH)2, Zn(OH)2, HgOHg(NH2)NO3

HgOHg(NH2)NO3Zn(OH)2, Cd(OH)2

AI(OH)2, Zn(OH)2, Pb(OH)2

https://dl.doubtnut.com/l/_FwwPCJu3L2ah
https://dl.doubtnut.com/l/_Su1r7MLRSDGQ


58.  solution was added to four semple solution in difference test

tube and found the following observation about the precipitate.

a. White ppt which is solution in oxcess of  solution 


b.On heating which is white in cold but yellow on heating 

c. The cation present in (b) forms white ppt , with hypo solution which

give black ppt on heating 

d. The cation present in (c ) forms soluble complex with excess of 

solution 

White ppts in (a),(b) and (c ) respectively obtained are

A. 

B. 

C. 

D. 

Answer: a,b

Watch Video Solution

NH3

NH3

NH3

Zn2 +

Cd2 +

Co2 +

Ni2 +

https://dl.doubtnut.com/l/_Su1r7MLRSDGQ
https://dl.doubtnut.com/l/_QpVgnEBNIbYJ


59.  solution was added to four semple solution in difference test

tube and found the following observation about the precipitate.

a. White ppt which is solution in oxcess of  solution 


b.On heating which is white in cold but yellow on heating 

c. The cation present in (b) forms white ppt , with hypo solution which

give black ppt on heating 

d. The cation present in (c ) forms soluble complex with excess of 

solution 

White ppt in (c) and the soluble complex from white ppt with the type

solution is//are

A. 

B. 

C. 

D. None of these

Answer: a,c

Watch Video Solution

NH3

NH3

NH3

Pb(OH)2, [Pb(S2O3)2]
2

Ag2O, [Ag(S2O3)2]
2

HgO. Hg(NH2)NO3, [Hg(S2O3)2]
2 −

https://dl.doubtnut.com/l/_QpVgnEBNIbYJ


60. (A) is a colourless solid, it metal when heated and gives of a gas (B)

Which is supporter of combustion , if heating is contimed the white of

the solid disuppears , When (A) is heatyed with an aqueous 

solution , an alkaline gas (C ) is evolved ,When gas(B) is leasted with

sodumine ,a colourless solid (D) is formed .When (D) is heated with dil

 a colourless liquid (F) is formed 


The compound E has

A. Linear structure

B. Bent structure

C. Terehedral structure

D. None of these

Answer: b

Watch Video Solution

NaOH

H2SO4

https://dl.doubtnut.com/l/_QpVgnEBNIbYJ
https://dl.doubtnut.com/l/_nyfsZhqbufYO
https://dl.doubtnut.com/l/_5e62sHXpo6gw


61. (A) is a colourless solid, it metal when heated and gives of a gas (B)

Which is supporter of combustion , if heating is contimed the white of

the solid disuppears , When (A) is heatyed with an aqueous 

solution , an alkaline gas (C ) is evolved ,When gas(B) is leasted with

sodumine ,a colourless solid (D) is formed .When (D) is heated with dil

 a colourless liquid (F) is formed .


The mass of compound E is

A. Ammonia

B. Hydrazoic acid

C. Hydrogen amide

D. None of these

Answer: b

Watch Video Solution

NaOH

H2SO4

https://dl.doubtnut.com/l/_5e62sHXpo6gw


62. (A) is a colourless solid, it metal when heated and gives of a gas (B)

Which is supporter of combustion , if heating is contimed the white of

the solid disuppears , When (A) is heatyed with an aqueous 

solution , an alkaline gas (C ) is evolved ,When gas(B) is leasted with

sodumine ,a colourless solid (D) is formed .When (D) is heated with dil

 a colourless liquid (F) is formed .


The compound C has

A. Linear geometry

B. Pyramidal

C. Terehedral

D. None of these

Answer: b

Watch Video Solution

NaOH

H2SO4

https://dl.doubtnut.com/l/_dmjlO6wMnhJ6


63. 


Which of the following statement is/are correct for gas (D) ?

(I)it has the state of hydridisation 


(II)Gas can be identified by  solution 


(III)Gas can be identified by  solution 


(IV)Gas can be identified by passing through solution

A. I,IV

B. I,III

C. III only

D. I,II,IV

Answer: c

sp3

CaCI2

Pb(OAc)2

https://dl.doubtnut.com/l/_8L7GNnxgIS2M


Watch Video Solution

64. 


Compound (B) on reaction with  gives a coloured

complex exhibility

A. Optical isomerism

B. Geonettical isomeriam

C. Linkage isomerism

D. No isomerism

Answer: a

W t h Vid S l ti

[Na(en)3][NO3)2

https://dl.doubtnut.com/l/_8L7GNnxgIS2M
https://dl.doubtnut.com/l/_i4561GlZjMde


Watch Video Solution

65. A colourless (A) when place into water a heavy white turbidly of (B)

solid (A) gives a close solution in conesolution in cone  when 

solution is added to clear solution water ,(B) forms again (B) dissolves

in dilute . When  is passed through a sespension of (A) or (B),

a black precipitate (C ) forms , (C ) is insolves in yellow ammonium

sulphide  , cone  added to solid (A) liberates gas (D)

gas (D) is water soluble and gives white precipitate with mercuric salts

(E ) and not mercuric salt .The black precipitate (C ) dissolves in

 to give a solution to which  is added followed by

addition of  when a white precipitate (F) is formed (E ) gives a

black ppt , (G) with solution of sodium stannite. 

When compound (E ) reacts with  , then product is a

A. White ppt

B. Black ppt

C. yellow ppt

HCI HCI

HCI H2S

(NH4)2S H2SO4

HNO3, (1, 1) H2SO4

NH4OH

NH4OH

https://dl.doubtnut.com/l/_i4561GlZjMde
https://dl.doubtnut.com/l/_oP8NwIxFOURO


D. Green ppt

Answer: b

Watch Video Solution

66. A colourless (A) when place into water a heavy white turbidly of (B)

solid (A) gives a close solution in conesolution in cone  when 

solution is added to clear solution water ,(B) forms again (B) dissolves

in dilute . When  is passed through a sespension of (A) or (B),

a black precipitate (C ) forms , (C ) is insolves in yellow ammonium

sulphide  , cone  added to solid (A) liberates gas (D)

gas (D) is water soluble and gives white precipitate with mercuric salts

(E ) and not mercuric salt .The black precipitate (C ) dissolves in

 to give a solution to which  is added followed by

addition of  when a white precipitate (F) is formed (E ) gives a

black ppt , (G) with solution of sodium stannite. 

Compound (C ) is also formed by the following reaction

HCI HCI

HCI H2S

(NH4)2S H2SO4

HNO3, (1, 1) H2SO4

NH4OH

https://dl.doubtnut.com/l/_oP8NwIxFOURO
https://dl.doubtnut.com/l/_QYhiElrfaul7


A. 

B. 

C. 

D. None of these

Answer: c

Watch Video Solution

Ba2 + + S(2)O2 −
3 → E

Bi2 + + S(2)O2 −
3 → E

Bi2 +S(2)O3

Δ
−−→ E

67. A colourless (A) when place into water a heavy white turbidly of (B)

solid (A) gives a close solution in conesolution in cone  when 

solution is added to clear solution water ,(B) forms again (B) dissolves

in dilute . When  is passed through a sespension of (A) or (B),

a black precipitate (C ) forms , (C ) is insolves in yellow ammonium

sulphide  , cone  added to solid (A) liberates gas (D)

gas (D) is water soluble and gives white precipitate with mercuric salts

(E ) and not mercuric salt .The black precipitate (C ) dissolves in

 to give a solution to which  is added followed by

HCI HCI

HCI H2S

(NH4)2S H2SO4

HNO3, (1, 1) H2SO4

https://dl.doubtnut.com/l/_QYhiElrfaul7
https://dl.doubtnut.com/l/_yyzvMycQnCRY


Exercises (Multiple Correct) Part-A (Analysis Of Anions)

addition of  when a white precipitate (F) is formed (E ) gives a

black ppt , (G) with solution of sodium stannite. 

Compound (B ) is not soluble in

A. Tartaric ric acid

B. HCI

C. 

D. 

Answer: a

Watch Video Solution

NH4OH

HNO3

H2SO4

1. When Zn reacts with conc  are

formed , the reaction (s) involved in this process is/are

HNO3, thenZn(NO3)2 and NO2

https://dl.doubtnut.com/l/_yyzvMycQnCRY
https://dl.doubtnut.com/l/_DZaO0QZspxSJ


A. Redox reaction

B. Acid base reaction

C. Ion exchange reaction

D. None

Answer: a,b

Watch Video Solution

2. Select the correct statement(s):

A.  is sparingly soluble in water because ithas massive H-

bonding

B. When  reacts with bicarbonatie, then white ppt of 

is formed

C.  is poisonous

NaHCO2

BaCI2 BaCO3

HgCI2

https://dl.doubtnut.com/l/_DZaO0QZspxSJ
https://dl.doubtnut.com/l/_rBRUEZUrueRX


D. Phenophthelein is turned pink by soluble carbonate and

colourless by soluble hydrogen carbonate.

Answer: a,c,d

Watch Video Solution

3. Which of the following anion may be identified by their ppt reaction

in aqueous solution ?

A. 

B. 

C. 

D. 

Answer: a,b,c

Watch Video Solution

CrO
2 −
4

SO
2 −
4

PO
3 −
4

MnOΘ
4

https://dl.doubtnut.com/l/_rBRUEZUrueRX
https://dl.doubtnut.com/l/_wZseoZ0ZgRqL


4. Which of the following carbonates do not give metal oxide on

heating ?

A. 

B. 

C. 

D. 

Answer: b,c,

Watch Video Solution

CuCO3

K2CO3

Na2CO3

MgCO3

5. Which of the following compounds are soluble in water ?

A. 

B. 

C. 

CaC2O4

SrSO4

BaCl2

https://dl.doubtnut.com/l/_C6T092DXGStx
https://dl.doubtnut.com/l/_e4xH1Sr2HGoS


D. 

Answer: c,d,

Watch Video Solution

(NH4)2C2O4

6. Which of the following halides are not soluble in water ?

A. 

B. 

C. 

D. 

Answer: a,b,c

Watch Video Solution

AgCl

AgBr

PbCI2

AgF

7. The brown ring test is performed for the qualitative detection of

https://dl.doubtnut.com/l/_e4xH1Sr2HGoS
https://dl.doubtnut.com/l/_yzpvk5IhECH1
https://dl.doubtnut.com/l/_WEUl33Jdsn5Z


A. Bromides

B. Iodides

C. Nitrates

D. Nitrite

Answer: c,d

Watch Video Solution

8. Which of the following salt does give positive test for nitrate ion?

A. 

B. 

C. 

D. None of these

Answer: a,b,c

W t h Vid S l ti

KNO3

NaNO3

Mg(NO3)2

https://dl.doubtnut.com/l/_WEUl33Jdsn5Z
https://dl.doubtnut.com/l/_fmSfvGdSiILs


Watch Video Solution

9. Which of the following anions are easily removed from aqueous

solution by precipitation ?

A. 

B. 

C. 

D. 

Answer: a,b,d

Watch Video Solution

ClΘ

SO
2 −
4

NOΘ
3

CO2 −
3

10. A white ppt , is obtainned when

A. A solution of  is treated with 

B. A solution of  is treated with 

BaCl2 Na2CO3

CaCl2 Na2SO3

https://dl.doubtnut.com/l/_fmSfvGdSiILs
https://dl.doubtnut.com/l/_kVy5IIOt2T7s
https://dl.doubtnut.com/l/_pXnbL6lRvAP9


C. A solution of  is treated with 

D. A solution of is treated with 

Answer: a,b,c

Watch Video Solution

ZnSO4 Na2S

Pb(NO3)2 Na2CrO4

11. Which pair would not be expected to form precipitate when solution

are mixed?

A. 

B. 

C. 

D. 

Answer: a,b,c

Watch Video Solution

K ⊕ , SO2 −
4

Na⊕ , S2 −

Ag⊕ , NOΘ
3

Al3 + , HOΘ

https://dl.doubtnut.com/l/_pXnbL6lRvAP9
https://dl.doubtnut.com/l/_lalTG2TurgZa


12. Reddish brown gas is obtained when the following are treated with

conc 

A. 

B. 

C. 

D. 

Answer: a,b,c

Watch Video Solution

H2SO4

BrΘ

NOΘ
2

NOΘ
3

I −

13. The correct statement (s) is/are with respect to chromy chloride test

A. Formation of lead chromate

B. Formation of chromyl chloride chromate

C. Liberation of chloride

https://dl.doubtnut.com/l/_Dd4xKfpiZJFC
https://dl.doubtnut.com/l/_0VbTmbz0zuWE


D. Formation of reddish -brown vapours

Answer: a,b,d

Watch Video Solution

14. Nitrite  interfers in the ring -test of nitrate . Some

of the following reagent can be used for the removal of nitrite

A. 

B. (thiourea)

C.  (sulphamic acid)

D. None of these

Answer: a,b,c

Watch Video Solution

(NOΘ
2 ) (NOΘ

3 )

NH4Cl

(NH2)2CS

NH2SO3H

https://dl.doubtnut.com/l/_0VbTmbz0zuWE
https://dl.doubtnut.com/l/_5QUQjQSIuZFz


15. If (X) turn lime water milky , then X may be

A. 

B. 

C. 

D. 

Answer: a,b,

Watch Video Solution

CO2

SO2

NO2

O2

16. If(X) turns acidified  solution green , then X may be

A. 

B. 

C. 

D. 

K2Cr2O7

SO2

CO2

NOΘ
2

Fe2 +

https://dl.doubtnut.com/l/_bz2eBivqxE4N
https://dl.doubtnut.com/l/_dT3IvjoTkxAG


Answer: a,c,d

Watch Video Solution

17. If (X) decolourises acidfied  solution , then X may

A. 

B. 

C. 

D. 

Answer: a,b,c,d

Watch Video Solution

KMnO4

S2 −

SO2 −
3

Fe2 +

SO2

18. Which of the following ppt (s) of sulphite ion have white colour ?

A. Ag2SO3

https://dl.doubtnut.com/l/_dT3IvjoTkxAG
https://dl.doubtnut.com/l/_er0i2sj8FwH6
https://dl.doubtnut.com/l/_q1j4tErqoNT6


B. 

C. 

D. 

Answer: a,b,c,d

Watch Video Solution

SrSO3

CaSO4

BaSO3

19. Which of the following gases have brown colour ?

A. 

B. 

C. 

D. 

Answer: a,b

Watch Video Solution

Br2

NO2

CO2

I2

https://dl.doubtnut.com/l/_q1j4tErqoNT6
https://dl.doubtnut.com/l/_IRaSBK4Q7AZY


20.  can be distinguished by using

A. 

B. 

C.  solution

D. 

Answer: a,b,d

Watch Video Solution

S2 − and SO2 −
3

(CH2COO)2Pb

Na2[Fe(CN)5NO]

Cr2O
2 −
7

CaCI2

21. Consider the following reaction 

Nitrite + acetic acid + thio urea  


Formation of the product in the reaction cannot be identified by

A.  when blood -red colour appears

B.  when blue colour appears

→ N2 + SC
Θ

N + 2H2O

FeCI3 /dil, HCI

FeCI3 /dil, HCI

https://dl.doubtnut.com/l/_Q1OVWZjiF492
https://dl.doubtnut.com/l/_MXvXYgqIwIqn


C.  when green colour appears

D.  when colourless solution is formed

Answer: b,c,d

Watch Video Solution

K2Cr2O7, HCI

KMnO4 /HCI

22. 


The gas will be

A. 

B. 

C. 

D. 

Answer: b,c

CO2

SO2

H2S

SO3

https://dl.doubtnut.com/l/_MXvXYgqIwIqn
https://dl.doubtnut.com/l/_sMZDtFYXrz8y


Watch Video Solution

23. Which of the following combinations in an aqueous medium will

give a yellow ppt. ?

A. 

B. 

C. 

D. None of these

Answer: a,b

Watch Video Solution

AgNO3 + NaBr

Pb(CH3COO)2 + Na2CrO4

Fe3 + +
Θ

SCN

24. Which of the following nitrates are water soluble ?

A. NaNO3

https://dl.doubtnut.com/l/_sMZDtFYXrz8y
https://dl.doubtnut.com/l/_r0DvXtvfPMfN
https://dl.doubtnut.com/l/_3tCG84buyVS3


B. 

C. 

D. 

Answer: a,b,c,d

Watch Video Solution

AgNO3

Hg(NO3)2

LiNO3

25. Which of the following reagents can be used to distinguish between

 and ?

A. Lime water

B. Zine nitropruside paste in water

C. Potasium iodate and strach

D. Acidfied potessium dichromate of aqueous

Answer: b,c,d

Watch Video Solution

SO2 CO2

https://dl.doubtnut.com/l/_3tCG84buyVS3
https://dl.doubtnut.com/l/_ljrPJ5LkR6Hb


26. Each of these solution is added to a mixture of aqueous solution

oof iodide and chloroform test for iodine when the solution are

vigeorrously mixed?

A. NaCI solution

B. NaBr solution

C. Chloride water

D. Bromine water

Answer: c,d

Watch Video Solution

27. For the lime water test , if the observation are position for the

unknown sample , then which of the following conclusion (s) is /are

incorrect?

https://dl.doubtnut.com/l/_ljrPJ5LkR6Hb
https://dl.doubtnut.com/l/_PRRGvEMpTN3G
https://dl.doubtnut.com/l/_9THDDoYF4Puj


A. sample has only 

B. sample has only 

C. sample has only 

D. sample has 

Answer: a,b,d

Watch Video Solution

NO2

SO3

CO2 and SO2

H2S

28.  


 


 


 


Select the correct options (s) for white ppt. shown in the above

reactions.

A. 

B. 

CaCO3 → A + B(gas)

A + H2O → C

C + B → D
( White ppt. )

+ H2O

D + B(gas) → E
( Water soluble )

Boil
−−−→
BaCI2

F
( White ppt. )

CaCO3

MgCO3

https://dl.doubtnut.com/l/_9THDDoYF4Puj
https://dl.doubtnut.com/l/_GcOR9gUmj8f0


C. 

D. 

Answer: a,c

Watch Video Solution

BaCO3

Na2CO3

29. Which of the following statement (s) is/are correct?

A. In , both sulphur are different in nature

B. Sodium acedact Mn,SN,Fe oxalate giving different type of product

C. Aqueous solution of  are basic in nature

D.  oxidises  whereas  and  oxidies 

Answer: a,c

Watch Video Solution

S2O
2 −
3

OCI Θ , S2 − and CO2 −
3

NOΘ
2 I Θ Br2 CI2 NOΘ

2

https://dl.doubtnut.com/l/_GcOR9gUmj8f0
https://dl.doubtnut.com/l/_fPczmFkG5Aoo


Exercises (Multiple Correct) Part-B (Analysis Of Cations)

30. Which of the following anion(s) is/are interfering radicate ?

A. 

B. 

C. 

D. None of these

Answer: a,b,c

Watch Video Solution

BO3 −
3

F Θ

PO
3 −
4

1. Blue coloured compound are obtained when

A.  ion react with potassium ferriyanide

B.  ion react with potassium ferrocyanide

Fe2 +

Fe3 +

https://dl.doubtnut.com/l/_mbWFeQNuvYaz
https://dl.doubtnut.com/l/_yAbydZNKVB6A


C.  ion react with potassium ferriyanide

D.  ion react with potassium ferroyanide

Answer: a,b

Watch Video Solution

Fe3 +

Fe2 +

2. Potassium ferrocyanide is used in the detection of

A.  ions

B.  ions

C.  ions

D.  ions

Answer: a,b,c

Watch Video Solution

Fe2 +

Fe3 +

Cu2 +

Cd2 +

https://dl.doubtnut.com/l/_yAbydZNKVB6A
https://dl.doubtnut.com/l/_w5Hkr6DFGNX0


3. Bromine is not recognised by is

Watch Video Solution

4.  can be obtained from  solution by the action of

A. 

B. 

C. Soluble 

D. Solution 

Answer: a,b

Watch Video Solution

I2 KI

CI2

Br2

CI Θ

BrΘ

5. Which of the following is not precipitate by  in presence of cone

acid soln

H2S

https://dl.doubtnut.com/l/_gQACIwtzvnkb
https://dl.doubtnut.com/l/_crsD67Fsgv8e
https://dl.doubtnut.com/l/_hlIm9Oq2wH6b


A. 

B. 

C. 

D. 

Answer: b,d

Watch Video Solution

Cu2 +

Al3 +

Sb3 +

Cd2 +

6. Which of the following is (are) soluble in excess of ?

A. 

B. 

C. 

D. 

Answer: c,d

W t h Vid S l ti

NaOH

Cr(OH)3

Fe(OH)3

Al(OH)3

Zn(OH)2

https://dl.doubtnut.com/l/_hlIm9Oq2wH6b
https://dl.doubtnut.com/l/_UUUYzmu2Q5qr


Watch Video Solution

7. Concentated aqueous sodium hydroxide cannot separate a mixture

of

A.  and 

B.  and 

C.  and 

D.  and 

Answer: a,c,d

Watch Video Solution

Al3 + Sn2 +

Al3 + Fe3 +

Al3 + Zn2 +

Zn3 + Pb2 +

8. The metal ion(s) which is/are not precipitated when is passed

with  is

A. 

H2S

HCl

Zn2 +

https://dl.doubtnut.com/l/_UUUYzmu2Q5qr
https://dl.doubtnut.com/l/_Q8qMOSX88X0f
https://dl.doubtnut.com/l/_SD8fXIYijSvW


B. 

C. 

D. 

Answer: a,b,d

Watch Video Solution

Ni2 +

Cd2 +

Mn2 +

9. An aqueous solution of a substance gives a white percipitate on

treatment with dil ,HCI which dissolves on heating .When  is passed

through the hot acidic solution a black precipitate is obtained .The

substances are not :

A.  salt

B.  salt

C.  salt

D.  salt

H2S

Hg2 +
2

Cu2 +

Ag⊕

Pb2 +

https://dl.doubtnut.com/l/_SD8fXIYijSvW
https://dl.doubtnut.com/l/_1Yhs78XFfYtP


Answer: a,b,c

Watch Video Solution

10. When  gas is passed through aqueous solution of 

 and  in the presence of excess of dilute

HCl, it fails to precipitate

A. CuS

B. HgS

C. 

D. CoS

Answer: a,b,c

Watch Video Solution

H2S

CuCl2, HgCl2, BiCl3 CoCl2

Bi2S3

https://dl.doubtnut.com/l/_1Yhs78XFfYtP
https://dl.doubtnut.com/l/_UwfisPhNPSn4


11. Which of the following is/are soluble in excess of

A. X

B. Y

C. Z

D. None of these

Answer: b,c

Watch Video Solution

NaOH, (X)Pb(OH)2(Y ), CuS, (Z), Al(OH)3

12. Aqueous solution contains

 on passing 

 gas, therte is a precipitate of ……. As sulphide

A. 

B. 

Zn(CH2COO)2, Cd(CH3COO)2 and Cu(CH3COO)2

H2S

Zn2 +

Cd2 +

https://dl.doubtnut.com/l/_HAD1ZZ6K0pVk
https://dl.doubtnut.com/l/_eXXkXuAScvXp


C. 

D. None of these

Answer: a,b,c

Watch Video Solution

Cu2 +

13. Which of the following paires can be septated by  in dil ?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: b,c,d

Watch Video Solution

H2S HCI

Cu2 + Cd2 +

Cu2 + Ni2 +

Cu2 + Zn2 +

Hg2 + Al2 +

https://dl.doubtnut.com/l/_eXXkXuAScvXp
https://dl.doubtnut.com/l/_R0FKAxEVtFpG


14. An inorganic salt solution paires on treatment with HCI will not give

a white precipitate of which metal ions?

A. 

B. 

C. 

D. 

Answer: b,c,d

Watch Video Solution

Hg2 +
2

Hg2 +

Zn2 +

Al3 +

15. Ammonium molybdate is used to test the radical

A. 

B. 

C. 

PO
3 −
4

AsO
3 −
4

Cu2 +

https://dl.doubtnut.com/l/_1fnBT5pdkrgs
https://dl.doubtnut.com/l/_OR0ZpnGHyBFw


D. 

Answer: a,b

Watch Video Solution

Ag⊕

16. Which of the following chlorides are water soluble ?

A. 

B. 

C. 

D. 

Answer: c,d

Watch Video Solution

AgCl

Hg2Cl2

HgCl2

NaCl

https://dl.doubtnut.com/l/_OR0ZpnGHyBFw
https://dl.doubtnut.com/l/_lgFbbjiOJ2c4


17. Which of the following metal sulphide is soluble in hot and dil

?

A. 

B. 

C. 

D. 

Answer: a,b,c

Watch Video Solution

HNO3

Ag2S

PbS

CdS

HgS

18. Which of the following ppt , is soluble dil , and  solution

?

A. 

B. 

HNO3 NH3

Ag2S2O3

Ag2CO3

https://dl.doubtnut.com/l/_eiXTBgqtMRPC
https://dl.doubtnut.com/l/_XXt7JiVEZenJ


C. 

D. 

Answer: a,b,c

Watch Video Solution

Ag2SO3

AgI

19. Which of the following ppt is insoluble in  solution ?

A. 

B. 

C. 

D. 

Answer: a,b

Watch Video Solution

NH3

AgI

Ag2S

AgCl

AgBr

https://dl.doubtnut.com/l/_XXt7JiVEZenJ
https://dl.doubtnut.com/l/_IqmgWndMaj0X


20. Which of the following will be completely or parially dissolved in

 ?

A. 

B. 

C. 

D. 

Answer: a,b

Watch Video Solution

NH4OH

AgCI

AgBr

BaSO4

AgI

21. Interfering radicals interfere the test of

A. Group III radicals only

B. Group III radicals or downward

C. Cation which are present in group II fitrate

https://dl.doubtnut.com/l/_CAUGkxSpzU7b
https://dl.doubtnut.com/l/_5lJM6K0AwZns


D. None of these

Answer: b,c

Watch Video Solution

22. Which of the following is/are correct for potassium ferrcysnide?

A. it gives a brown precipitate with  ions

B. it gives a red precipitate of mixed salt  ions

C. If in excess gives a white precipitate with 

D. It develops a deep red coloured with 

Answer: a,c

Watch Video Solution

Cu2 +

Cd2 +

Zn2 +

Fe3 +

23. Which of the following statement is not correct ?

https://dl.doubtnut.com/l/_5lJM6K0AwZns
https://dl.doubtnut.com/l/_N75RPqDLM3R9
https://dl.doubtnut.com/l/_r5k3SK5ZXAL1


A. Lead(II) chloride is soluble in hot water and resppears on cooding

B. in dilute HCI th e solubility of ) is higher then the hot water

C. in concetrated  is insoluble

D. Lead (II) chloride forms the complex are having white ppt ?

Answer: b,c

Watch Video Solution

PbCI2

HCI, PbCI2

24. Which of the following compound are having white ppt ?

A. 

B. 

C. 

D. 

Answer: a,c,d

W t h Vid S l ti

K2Fe[Fe(CN)6]

[Fe(H2O)3(SCN1)]
2 +

ZnS

Zn(OH)2

https://dl.doubtnut.com/l/_r5k3SK5ZXAL1
https://dl.doubtnut.com/l/_AEVnowr1eZDF


Watch Video Solution

25. Which of the following compound do not have white colour in the

form of ppt ?

A. 

B. 

C. 

D. 

Answer: a,b,c,d

Watch Video Solution

Bi2S3

Co[Hg(SCN)4]

CdS

BiI3

26. Out of  and  of those that dissolve in dil

HCI only one give precipitate when  is passed. Identify the

corresponding order which do not give precipitation :

Cu2 + , Ni2 + , Co2 + Mn2 +

H2S

https://dl.doubtnut.com/l/_AEVnowr1eZDF
https://dl.doubtnut.com/l/_nhJFHBDOrpm8
https://dl.doubtnut.com/l/_ZK2Kw5s8Z0d7


A. 

B. 

C. 

D. 

Answer: a,c,d

Watch Video Solution

Ni2 +

Cu2 +

Co2 +

Mn2 +

27. Which sulphides are soluble only in aqua regia ?

A. 

B. 

C. 

D. 

Answer: a,b,c

W t h Vid S l ti

NiS

CoS

HgS

CdS

https://dl.doubtnut.com/l/_ZK2Kw5s8Z0d7
https://dl.doubtnut.com/l/_qyULEOgoirp1


Watch Video Solution

28.  


Which of the following cation may be present in white ppt ?

A. 

B. 

C. 

D. 

Answer: a,b,c

Watch Video Solution

Pb2 +

Hg2 +

Ag⊕

Bi3 +

https://dl.doubtnut.com/l/_qyULEOgoirp1
https://dl.doubtnut.com/l/_FWdQqdGjgZcO


Exercises (Multiple Correct) Part-C(Dry Test)

1. Flame test is not given by

A.  ions

B.  ion

C.  ions

D. ions

Answer: a,c

Watch Video Solution

Mg2 +

Ba2 +

Be2 +

Ca2 +

2. Borax bead test is not given by

A. Copper salts

B. Nickel salts

C. Aluminium salts

https://dl.doubtnut.com/l/_C3eozJ5EeZng
https://dl.doubtnut.com/l/_gznplyAjYGNg


D. Magnestion salts

Answer: c,d

Watch Video Solution

3. Which of the following respond to borax test ?

A. Nickel salts

B. Copper salts

C. Cobalt salt

D. Aluminium salt

Answer: a,b,c

Watch Video Solution

4. In borax bead test, which compound (s)is/are not formed?

https://dl.doubtnut.com/l/_gznplyAjYGNg
https://dl.doubtnut.com/l/_EQXCWIS8Y07O
https://dl.doubtnut.com/l/_cgvcFz9wbU3C


A. Orthoborate

B. Metaborate

C. Double oxide

D. Tetraborate

Answer: a,b,d

Watch Video Solution

5. Which of the following cation (s) will turn blue in oxidising flame ?

A. 

B. 

C. 

D. 

Answer: a,d

W t h Vid S l ti

Co2 +

Cr3 +

Ni2 +

Cu2 +

https://dl.doubtnut.com/l/_cgvcFz9wbU3C
https://dl.doubtnut.com/l/_rDS8Hy1D3WAd


Watch Video Solution

6. Which of the following substance are green ?

A. 

B. 

C. 

D. 

Answer: a,c

Watch Video Solution

Fe(BO2)3

Cu

Cr(BO2)3

Co(BO2)2

7. Borax heat test is given by

A. 

B. 

C.  ions

Co2 +

Zn2 +

Cu2 +

https://dl.doubtnut.com/l/_rDS8Hy1D3WAd
https://dl.doubtnut.com/l/_svBAcclaa32F
https://dl.doubtnut.com/l/_ICtUKDm5vC6g


Exercises (Multiple Correct) Part-D (Miscellaneous)

D. 

Answer: a,c,d

Watch Video Solution

Ni2 +

8. Colourless salt  coloured bead (Z). (X) can be

A. Borax

B. Microcostric salt

C. Copper sulphate

D. None of these

Answer: a,b

Watch Video Solution

(X)
Δ

−−→ (Y )
Cu2 + , Δ
−−−−−→

https://dl.doubtnut.com/l/_ICtUKDm5vC6g
https://dl.doubtnut.com/l/_sYcuCUAMH11C


1. Select the correct statement(s):

A. Normal and polysulphides of ailkali metals are soluble in water

B. The sulphides of aluminum and magnesium can only be prepared

under dry condition as they are completely hydroysed by water

C. When filter paper is moistened with a solution of sodium

miropressium made alkline with sodium hydroxide or ammonia

solution , a purple colouration is produced with free hydrogen

sulphide

D. Thiosulphate salt of  are insoluble and dissolve in

excess of sodium thisulphide solution forming thiosulphde.

Answer: a,b,c

Watch Video Solution

Pb, Ag and Ba

https://dl.doubtnut.com/l/_C7EZ5w2TZtZ2


2. 


Mixture of A contains

A.  anions

B.  anions

C.  anions

D. None of these

Answer: b,c

Watch Video Solution

CO2 −
3 , HCOΘ

3

CO2 −
3 , HSOΘ

3

SO2 −
3 , HSOΘ

3

3. Which of the following statement (s) is/are incorrect ?

A. Maganess salt give a violet borax head test in reducing flame

https://dl.doubtnut.com/l/_XKQ5f6swoJDR
https://dl.doubtnut.com/l/_4kwDqUPQ8FqD


B. Form a mixed precipitate of  and  amonia solution

dissolve only 

C. Ferric ions give a deep green precipitate on adding potassium

ferroyanide solution

D. On boling the solution having  and  ions we

get a percipitate of 

Answer: a,c,d

Watch Video Solution

AgCI AgI

AgCI

K Θ , Cu2 + HCOΘ
3

K2Cu(CO3)2

4. A solution of colourless salt on boiling with excess  produces

a non-flammable gas. The gas evolution ceases after sometime upon

addition of  dust to the same solution, the gas evolution restarts.

The colourless salt (s) is (are).

A. 

NaOH

Zn

NH4NO3

https://dl.doubtnut.com/l/_4kwDqUPQ8FqD
https://dl.doubtnut.com/l/_Ft2yPT66kIDY


B. 

C. 

D. 

Answer: a,b

Watch Video Solution

NH4NO2

NH4CI

(NH4)2SO4

5. Which of the following statement is/are not true ?

A.  gives brown colour with 

B.  gives blood red colour with 

C. yieids colour with 

D. reacts with  then black ppt is formed

Answer: a,c,d

Watch Video Solution

Fe2 +
( aq )

NH4SCN

Fe3 +
( aq )

NH4SCN

Fe2 +
( aq )

K2Fe(CN)6

Ag⊕ CO2 −
3

https://dl.doubtnut.com/l/_Ft2yPT66kIDY
https://dl.doubtnut.com/l/_pyTGwlqZ7PL1


6. Which of the following react with dil ?

A. 

B. 

C. 

D. 

Answer: a,b,c,d

Watch Video Solution

H2SO4

CaCO3

KNO2

Na2S

BaCl2

7. Cone  will not give any gas with

A. 

B. barium phosphate

C. megnesium borate

D. sodium oxalate

H2SO4

ZnSO4

https://dl.doubtnut.com/l/_HKIY0u9pZgi5
https://dl.doubtnut.com/l/_klb12a8kJ6yh


Answer: a,b,c

Watch Video Solution

8. Select the correct statement(s):

A. All carbonate salt are soluble except carbonate salt alkline metals

and 

B. All carbonate salt are soluble except  white is sparingly

soluble

C. All sulphite salt are insoluble excess sulphate salts is alkline metal

and 

D. All  salt are insoluble

Answer: b,c

Watch Video Solution

(NH4)2CO3

NaHCO3

(NH4)2SO3

MnOΘ
4

https://dl.doubtnut.com/l/_klb12a8kJ6yh
https://dl.doubtnut.com/l/_ZAXonpfHXRK3
https://dl.doubtnut.com/l/_IYSFuAsBvsiO


9. Select the correct statement(s):

A. White ppt of  and  and  is soluble in dil 

 dil  and soda water

B. White ppt of is soluble in dil  dil

C. White ppt of  is soluble in dil and  soluble

D.  and  are stranger acids than 

Answer: a,b,c,d

Watch Video Solution

BaCO3 CaOC3 CaCO3

HNO3 HCI, CH3COOH

PbCO3 HNO3 CH3COOH

AgCO3 HNO3 NH3

HCN H2HO3 H2CO3

10. Select the correct statement(s):

A. HCI is used is acid for triration of 

B. Soda correct solution is very useful when any insolves salt is

present in a given mixture

SO2

https://dl.doubtnut.com/l/_IYSFuAsBvsiO
https://dl.doubtnut.com/l/_QfY2OzWjP3oy


C.  gas is identify by a filter paper moistred with potassium

iodate and starch soluble

D. When zine and sulphiuritic acid reacts with sulphite, then

hydrogen sulphide gas is evolved which may be detected by

holding land acadate paper to the mouth of the test tube

Answer: a,b,c,d

Watch Video Solution

SO2

11. Select the correct statement(s):

A.  appear as white precipitate when  reacts with 

B.  is unstable turming black standing due to formation of 

C.  can form soluble complax  with 

Ag2S2O3 Na2S2O3

AgNO3

Ag2S2O3

Ag2S

S2O
2 −
3 [Ag(S2O3)2]

3 −
Ag⊕

https://dl.doubtnut.com/l/_QfY2OzWjP3oy
https://dl.doubtnut.com/l/_ojKINVQDUWIR


D.  is used in photography.

Answer: a,b,c,d

Watch Video Solution

Na2S2O3

12. Which of the following complex(s) will have blue colour solution or

ppt ?

A. 

B. 

C. 

D. 

Answer: a,b,c

Watch Video Solution

[Cu(NH3)4]SO4

[Cu(NH3)4](OH)2

Co[Hg(SCN)4]

K3[Co(NO2)6]

https://dl.doubtnut.com/l/_ojKINVQDUWIR
https://dl.doubtnut.com/l/_GNAqDrdutTOF


13. Which of the following statement(s) is/are with true ?

A. Soluble bicarbonates give white precipitate with  in cold

B. Soluble calcium bicarbonates give white precipitate with dilute

amonia solution followed by .

C. Bicarbonates are generlly soluble in water

D.  chloride forms a reddish-brown precipitate in a solution

of soluble carbonate.

Answer: b,c,d

Watch Video Solution

MgCI2

MgSO4

Hg(II)

14. Which of the following statement(s) is(are) correct ?

A. Soluble sulphide gives black precipitate with  solution

which is soluble in hot dilute nitric acid

AgNO3

https://dl.doubtnut.com/l/_swNrHPQOLdYr
https://dl.doubtnut.com/l/_uNHSTGuoocM3


B. Soluble sulphide produces a yellow precipitate with a susponsion

of a cadmium carbonate.

C. Sulphide ion reacts with sodium nitroprusside and gives a purple

colouration

D. Free  gasa reacts with form preipitate with tertradrooxide

plumbates (II) solution

Answer: a,b,c

Watch Video Solution

H2S

15. Which of the following statement(s) is(are) incorrect ?

A. In thioure test for nitric ,a green coloured solution is obtained

B. it is not necessary to carry out the chromyl chloride test in a dry

test tube

https://dl.doubtnut.com/l/_uNHSTGuoocM3
https://dl.doubtnut.com/l/_2KCMVtv9MdqM


C. In  the brown ring test can be performed with its water

extract

D. Suspension of  gives black ppt , with sodium sulphide

solution

Answer: a,b,c,d

Watch Video Solution

PbNO3

CdCO4

16. Which of the following statement(s) is(are) correct ?

A.  white precipitate and

liberation of ammonia

B.  Red precipitate

C.  (black precipitate)  orange turbidity

D.  Blue precipitate

[Al(OH)4]
Θ

+ NH
⊕

4 . ( aq )

Slighty heat
−−−−−−→

Pb2 +
( aq )

+ 2BrΘ
( aq )

→

BiI3 +H2O(1)
Δ

−−→

Fe3 +
( aq )

+ K4[Fe(CN)6]
( aq )

→

https://dl.doubtnut.com/l/_2KCMVtv9MdqM
https://dl.doubtnut.com/l/_TKDKACbbdCZb


Answer: a,c,d

Watch Video Solution

17. Pick out the correct statement (s):

A. Golden yellow  dissolves in hot water to give is colourless

solution

B.  ions can be sepurated by adding  ion in

acetic acid medium

C. Salt of calcium copper and nickel give a green flame colour

D. The sulphide ion gives with alkline sodium nitroprtasside ,a violet

colour

Answer: a,b,d

Watch Video Solution

PbI2

Ba2 + and Ca2 + SO
2 −
4

https://dl.doubtnut.com/l/_TKDKACbbdCZb
https://dl.doubtnut.com/l/_wVz1WL44XKd6
https://dl.doubtnut.com/l/_0YKY6OFS7Ul6


18. Which of the following statement(s) is/are with true ?

A.  salt form soluble complex with excess 

B.  salt form soluble complex with aqueous ammonia

C.  salt form soluble complex with 

D. A pieces of iron or zine when placed in  salt solution ,

precipitate copper

Answer: a,b,d

Watch Video Solution

Cu2 + KCN

Cu2 +

Cu2 + KI

Cu2 +

19. state true or false?
Barium chromate is insoluble in dilute acetic acid

Watch Video Solution

20. Potassium cyanide is used for separating

https://dl.doubtnut.com/l/_0YKY6OFS7Ul6
https://dl.doubtnut.com/l/_auTPx8d5RMbj
https://dl.doubtnut.com/l/_rBHkMGAvQGH3


Exercises (Single Correct) Part-A (Analysis Of Anions)

A.  and 

B.  and 

C.  and 

D.  and 

Answer: a,b

Watch Video Solution

Co2 + Ni2 +

Cu2 + Cd2 +

Mn2 + Zn2 +

Ba2 + Ca2 +

1. Which reagent is used to remove  from water

A. 

B. 

C. 

D. 

SO
2 −
4 or ClΘ

NaOH

Pb(NO3)2

BaSO4

KOH

https://dl.doubtnut.com/l/_rBHkMGAvQGH3
https://dl.doubtnut.com/l/_O414HqsttwXa


Answer: b

Watch Video Solution

2. Which compound will not give position chroyl choride test?

A. Copper chloride, 

B. Mercuridechloride, 

C. Zine chloride, 

D. Anilmium chloride, 

Answer: b

Watch Video Solution

CuCI2

HgCI2

ZnCI2

C4H3NH ⊕
3 CI Θ

3. A substance on treatment with dil  liberates a colourless gas

which produces (i) turbidity with ba-ryts water and (ii) turns acidified

dichromate solution green .The reaction indicates the presence of:

H2SO4

https://dl.doubtnut.com/l/_O414HqsttwXa
https://dl.doubtnut.com/l/_9JJmKcT3EFI6
https://dl.doubtnut.com/l/_tfKfhKRahUgC


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

CO2 −
3

S2 −

SO2 −
3

NOΘ
2

4. Conc. on addition to dry  gives brown fumes of :

A. 

B. 

C. 

D. 

Answer: d

W t h Vid S l ti

H2SO4 KNO3

SO2

SO3

SO

NO2

https://dl.doubtnut.com/l/_tfKfhKRahUgC
https://dl.doubtnut.com/l/_2AklUPNGOlW3


Watch Video Solution

5. A white metal sulphide soluble in water is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

CuS

Na2S

PbS

ZnS

6. A salt having  on burning with conc  gives …. edged

flame.

A. Green

B. yellow

BO3 −
3 H2SO4

https://dl.doubtnut.com/l/_2AklUPNGOlW3
https://dl.doubtnut.com/l/_56nfjEuI7Vsj
https://dl.doubtnut.com/l/_U4gbxGHoyCog


C. Red

D. White

Answer: a

Watch Video Solution

7. ,on reaction with conc  give reddish brown gas which

bleaches moist limus paper .The evolved gas is

A. Bromine

B. Mixture of bromine and HBr

C. 

D. 

Answer: a

Watch Video Solution

KBr H2SO4

HBr

NO2

https://dl.doubtnut.com/l/_U4gbxGHoyCog
https://dl.doubtnut.com/l/_absYoVScmoRj


8. An inorganic salt when heated evolves coloured gas which bleaches

moist limus paper .The evolves gas is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

NO2

SO2

N2O

I2

9. The colour developed when sodium sulphide is added to sodium

nitroprusside is

A. Violet

B. yellow

https://dl.doubtnut.com/l/_EcmLrSYspbWU
https://dl.doubtnut.com/l/_HdWragiFwvn2


C. Red

D. Black

Answer: a

Watch Video Solution

10. Using dil HCI, which of the following radical cannot be confirmed

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

S2 −

S2O
2 −
3

CO2 −
3

NOΘ
2

https://dl.doubtnut.com/l/_HdWragiFwvn2
https://dl.doubtnut.com/l/_LIROfBhGtWDd


11. The solution of a chemical compound X reacts with  solution

to form a white precipitate of Y which dissolves in  to give Z.

When Z is treated with dil  ,Y reappears .The chemical compound

X can be

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

AgNO3

NH4OH

HNO3

NaCl

CH3Cl

NaBr

NaI

12. Preparation of  extract is made for acid radical analysis

because

A. All anions react with Na to give water soluble compound

Na2CO3

https://dl.doubtnut.com/l/_zQZfNDccbzxB
https://dl.doubtnut.com/l/_rvBO7hsOE5gQ


B. Na is more reactive

C.  is water soluble

D. None of the above

Answer: a

Watch Video Solution

Na2CO3

13.  can be distinguished by

A. Limus paper

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

H2S and SO2

MnOΘ
4

Pb(CH3COO)2

https://dl.doubtnut.com/l/_rvBO7hsOE5gQ
https://dl.doubtnut.com/l/_0FckkkJUW7JP


14. Two test tubes containing a nitrate and a bromide are treated

separately with ; brown fumes evolved are passed in water . The

water will be coloured by vapours evolved from the test tube

containing:

A. Nitrate

B. Bromide

C. Both (a) and (b)

D. None of these

Answer: b

Watch Video Solution

H2SO4

15. A colouless solution of a compound gives a precipitate with 

solution but no precipitate with a solution of . The 


action of concentrated  on the compound liberates a 


AgNO3

Na2CO3

H2SO4

https://dl.doubtnut.com/l/_fGNX1TPt7Ar5
https://dl.doubtnut.com/l/_tZs1Ulbd5VLX


suffocating reddish brown gas. 

The compound is 

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

:

NaNO3

KCI

Ca(ON3)2

NaBr

16. A white precipitate insoluble in conc  is formed when

aqueous solution of X in  is treated with barium chloride and

bromine water .The X is

A. 

B. 

HNO3

NaOH

SO3

SO2

https://dl.doubtnut.com/l/_tZs1Ulbd5VLX
https://dl.doubtnut.com/l/_PhQxwhRKq2ce


C. 

D. None of these

Answer: b

Watch Video Solution

CO2

17. Aqueous solution of  on reaction with , gives

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Na2S2O3 CI2

Na2S4O4

Na2SO4

Na2S4O6

NaOH

https://dl.doubtnut.com/l/_PhQxwhRKq2ce
https://dl.doubtnut.com/l/_lgiD6U0bdOt3


18. When  layer containing both  and  is shaken with excess of

 water, the violet colour due to  disappears and appereance of

pale yellow colour is due to the formation of :

A.  and  respectively

B.  and  respectively

C.  and  respectively

D.  and , respectively

Answer: b

Watch Video Solution

CS2 Br2 I2

Cl2 I2

I Θ
3 Br2

HIO3 BrCl

KI BrCl

I Θ BrΘ

19. Which of the following pair of acid radicals can be distinguished by

using dil ?

A.  and 

B.  and 

H2SO4

C2O
2 −
4 NOΘ

3

NOΘ
3 NOΘ

2

https://dl.doubtnut.com/l/_gMY3JFwdDNDu
https://dl.doubtnut.com/l/_aDSk2rLJCok4


C.  and 

D.  and 

Answer: b

Watch Video Solution

ClΘ BrΘ

HCOΘ
3 CO2 −

3

20. The aqueous solution of salt gives white ppt with lead acetate

solution which is insoluble in hot water and nitric acid .The salt

contains

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

CI Θ

Br2 +

CO2 +
3

SO
2 −
4

https://dl.doubtnut.com/l/_aDSk2rLJCok4
https://dl.doubtnut.com/l/_9rNErN2PPaDf


21. Some pale green crystals are strongly heated .The gases then off are

passed into a container surrounded by ice and then through a solution

of acidified  The  is decolourised, a waxy white solid is

formed in the ice container, this is dissolvesd in water .The solution will

A. Give a precipitate with silver nitrate solution

B. Give a precipitate with barium chloride solution

C. Turn red litmus blue

D. Give blue colour with starch solution

Answer: b

Watch Video Solution

KMnO4 KMnO4

22. For testing sodium carbonate solution for the presence of sulphate

ions as impurities one should add :

https://dl.doubtnut.com/l/_9rNErN2PPaDf
https://dl.doubtnut.com/l/_cfO3tsGRZxnN
https://dl.doubtnut.com/l/_kqlEvs9pKY8v


A. Excess hydrochloric acid and silver nitrate solution

B. Excess sulpharic acid and silver nitrate solution

C. Excess nitric acid and silver nitrate solution

D. Excess hydrochloric acid and barium chloride solution

Answer: d

Watch Video Solution

23. Salt A  If reddish brown layer come first , then

A.  present

B.  absent

C.  present

D.  present

Answer: a

W h Vid S l i

Layer test
−−−−−→

BrΘ

BrΘ

ClΘ

I Θ

https://dl.doubtnut.com/l/_kqlEvs9pKY8v
https://dl.doubtnut.com/l/_O0KTI4TNxoNF


Exercises (Single Correct) Part-B(Dry Test)

Watch Video Solution

24.  ? 


Comment on the product of this reaction

A. No reaction

B. White ppt of  is obtained

C. White ppt of  is formed

D. No ppt is obtained

Answer: c

Watch Video Solution

CaCO3(s) + CH3COOH −−−−−−−−−→
Na2C2O4solution

(CH3COO)2Ca

CaC2O4

1. The compound formed in the borax bead test of  in oxidising

flame is

Cu2 +

https://dl.doubtnut.com/l/_O0KTI4TNxoNF
https://dl.doubtnut.com/l/_9MoBJLYVrBZi
https://dl.doubtnut.com/l/_U3rSbT6aHBC1


A. Cu

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

CuBO2

Cu(BO2)2

2. Potassium chromate solution is added to aqueous solutions of metal

nitrate. The yellow precipitate thus obtained are insoluble in acetic

acid. Thse are subjected to flame, test, flame colour of individual ppt.

is/are:

A. Lilac

B. Apple green

C. Crimson red

https://dl.doubtnut.com/l/_U3rSbT6aHBC1
https://dl.doubtnut.com/l/_q0FI5aeOjTCx


D. Golden yellow

Answer: b

Watch Video Solution

3. Which gives violet colour with borax ?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

NH
⊕

4

K ⊕

Mg2 +

Al3 +

4. Which gives violet colour with borax?

https://dl.doubtnut.com/l/_q0FI5aeOjTCx
https://dl.doubtnut.com/l/_znUBZpznQjyG
https://dl.doubtnut.com/l/_6wkPc5NjXQ3N


A. Fe

B. Pb

C. Co

D. Mn

Answer: d

Watch Video Solution

5. A green mass is formed in the charcoal cavity test when a colourless

salt  is fused with cobalt nitrate. (X) may contain

A. Aluminium

B. copper

C. Barium

D. Zinc

Answer: d

(X)

https://dl.doubtnut.com/l/_6wkPc5NjXQ3N
https://dl.doubtnut.com/l/_4pVr6GO8GXFx


Watch Video Solution

6. Carbonates of Ba,Sr and Ca are

A. White

B. Blue

C. Green

D. Yellow

Answer: a

Watch Video Solution

7. The metal that does not give the borax head test is

A. Cr

B. Ni

https://dl.doubtnut.com/l/_4pVr6GO8GXFx
https://dl.doubtnut.com/l/_F8jkEcKbcHFM
https://dl.doubtnut.com/l/_kjMiFfHlntNf


C. Pb

D. Mn

Answer: c

Watch Video Solution

8. Which metal gives blue ash when it's salt is heated with 

solid and  on a charcoal piece?

A. Cu

B. Mg

C. AI

D. Zn

Answer: c

Watch Video Solution

Na2CO3

Co(NO3)2

https://dl.doubtnut.com/l/_kjMiFfHlntNf
https://dl.doubtnut.com/l/_KvTl9PDGg7HG


9. A minute of cupric salt is heated on borax bead in reducing flame of

bunsen burner, the colour of bead after cooling will be

A. Blue

B. Red

C. Colourless

D. Green

Answer: d

Watch Video Solution

10. Aqueous solution of a salt (Y) is alkaline to litmus. On strong

heating it swells-up to give a glassy material .When conc  in

added to a hot concentrated solution of (Y) white crystals of a weak

acid separate out .Hence , the compound (Y) is

A. 

H2SO4

Na2SO4.10H2O

https://dl.doubtnut.com/l/_sZguRjMKveEA
https://dl.doubtnut.com/l/_tsyJf8aK4DTi


Exercises (Single Correct) Part-C (Analysis Of Cations)

B. 

C. 

D. 

Answer: d

Watch Video Solution

Ca2P4O11.10H2O

Na2B6O11

Na2B4O7.10H2O

1. Strongly acidified solution of barium give a white precipitate with ……

which did not dissolve even after large addition of water

A. Sodium phosphate

B. Sodium carbonate

C. Sodium salphate

D. Sodium chloride

https://dl.doubtnut.com/l/_tsyJf8aK4DTi
https://dl.doubtnut.com/l/_ECTAtAHHbpCs


Answer: c

Watch Video Solution

2. In the precipitate of the iron group in qualitative analysis ammonium

chloride is added before adding ammonium hydroxide to

A. Decreases concentration of  ions

B. Prevent interference by phosphate ions

C. increases concentration of  ions

D. Increases concentration of  ions

Answer: a

Watch Video Solution

OH Θ

ClΘ

NH
⊕

4

3.  gas on passing through an alkline solution , forms a white

precipitate .The solution contains ions of

H2S

https://dl.doubtnut.com/l/_ECTAtAHHbpCs
https://dl.doubtnut.com/l/_QykLdnDfksEU
https://dl.doubtnut.com/l/_jDCP7aGcMCAT


A. Pb

B. Zn

C. Cu

D. Ni

Answer: b

Watch Video Solution

4. Yellow ammonium sulphide solution is a suitable reagent used for

the separation of

A.  and 

B.  and 

C.  and 

D.  and 

Answer: d

HgS PbS

PbS Bi2S3

Bi2S3 CuS

CdS As2S3

https://dl.doubtnut.com/l/_jDCP7aGcMCAT
https://dl.doubtnut.com/l/_eBveml47BAMk


Watch Video Solution

5. An orange red precipitate obtained by passing  through an

acidified solution of an inorganic salt indicates the presence of

A. Cadmium

B. Tin

C. Antimony

D. Bismuth

Answer: c

Watch Video Solution

H2S

6. Excess of concentrated sodium hydroxide can separate mixture of

A.  and Al3 + Cr3 +

https://dl.doubtnut.com/l/_eBveml47BAMk
https://dl.doubtnut.com/l/_uhJzvWRRKfZT
https://dl.doubtnut.com/l/_Gk7y2JIgLVxE


B.  and 

C.  and 

D.  and 

Answer: b

Watch Video Solution

Cr3 + Fe3 +

Al3 + Zn3 +

Zn2 + Pb2 +

7. Which of the following metal sulphides has maximum solubility in

water?

A. 

B. PbS

C. CuS

D. MnS

Answer: d

Watch Video Solution

HgS

https://dl.doubtnut.com/l/_Gk7y2JIgLVxE
https://dl.doubtnut.com/l/_iS2EceiuIzhJ


8. Lead has been placed in qualitative group analysis 1st and 2nd

because

A. It shown the valency one and two

B. it forms insoluble 

C. It form lead salphide

D.  is parially soluble in water

Answer: a

Watch Video Solution

PbCl2

PbCl2

9.  is

A. Black

B. Yellow

As2S3

https://dl.doubtnut.com/l/_iS2EceiuIzhJ
https://dl.doubtnut.com/l/_PinXM8Mkr9M3
https://dl.doubtnut.com/l/_1fcNjNmPqX0w


C. Orange

D. White

Answer: d

Watch Video Solution

10. A black sulphide is formed by the action of  on

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

H2S

CaCI2

CdCI2

ZnCI2

NaCI

https://dl.doubtnut.com/l/_1fcNjNmPqX0w
https://dl.doubtnut.com/l/_iBJzdvqgaJuZ


11. The group II precipitate soluble in yellow ammonium sulphide may

be

A. 

B. 

C. Both (a) and (b)

D. None of these

Answer: a

Watch Video Solution

As, Sb, Sn

Ca, Hg, Bi, Cd

12. Dolute nitric acid is generally not used for the preparation of

original solution for the basic radicals because it :

A. is oxidisig agent

B. is reducing agent

https://dl.doubtnut.com/l/_wTRa6b0fMExC
https://dl.doubtnut.com/l/_SvEUUFmmlZ2H


C. forms insoluble nitrates

D. forms solublel nitric

Answer: a

Watch Video Solution

13. The sulphide not soluble in hot dilute nitric acid is

A. CuS

B. ZnS

C. CdS

D. HgS

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_SvEUUFmmlZ2H
https://dl.doubtnut.com/l/_WEWa5ppDaQ1l


14.  will precipitate the sulphide of all the metals from the solution

of chlorides of  if

A. The solution is aqueous

B. The solution is acidic

C. The solution is diute acidic

D. Any of the above solution is present

Answer: a

Watch Video Solution

H2S

Cu, Zn and Cd

15. To a solution of a substance gradual addition of ammonium

hydroxide result in a black precipitate which does not dissolve in excess

of  however when HCI is added to the original solution a white

precipitate is formed .The solution containe

A. Lead salt

NH4OH

https://dl.doubtnut.com/l/_PiRDPuqixnr0
https://dl.doubtnut.com/l/_y0hTeWi5DP8a


B. Silver salt

C. Mercurous salt

D. Copper salt

Answer: c

Watch Video Solution

16. A compound is soluble in water. If ammonia is added to aqueous

solution of compound, a reddish brown precipitate appears which is

soluble in dill. HCl. The compound is a salt of :

A. Aluminium

B. Zine

C. Iron

D. Cadmium

Answer: c

https://dl.doubtnut.com/l/_y0hTeWi5DP8a
https://dl.doubtnut.com/l/_T7vAo4eW8aBY


Watch Video Solution

17. A light green coloured salt soluble in water gives black percipitate

on passing  which dissolves readily in HCl. The metal ion present is

:

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

H2S

Co2 +

Fe2 +

Ni2 +

Ag⊕

18. All ammonium salts liberate ammonia when :

A. Heated with HCI

https://dl.doubtnut.com/l/_T7vAo4eW8aBY
https://dl.doubtnut.com/l/_9zes8LzDomM8
https://dl.doubtnut.com/l/_SmpMINpJT97U


B. Heated with caustic soda

C. Heated with 

D. Heated with 

Answer: d

Watch Video Solution

H2SO4

NaNO2

19. Manganese salt  The solution has

purple colour 

The colour is due to

A. 

B. A lead salt

C. 

D. 

Answer: a

+PbO2 + conc. HNO2 →

HMnO4

Mn(NO3)2

H2MnO4

https://dl.doubtnut.com/l/_SmpMINpJT97U
https://dl.doubtnut.com/l/_Cjmqv5igwZxC


Watch Video Solution

20. An orange precipitate of group II is dissolve in conc HCI the solution

when treated with excess of water turn milky due to formation of

A. Sn(OH)CI

B. 

C. SbOCI

D. 

Answer: c

Watch Video Solution

Sb(OH)Cl2

Sb(OH)2Cl

21. Which of the following solution gives precipitate with 

but not with 

A. Sodium chloride

Pb(NO3)2

Ba(NO3)2

https://dl.doubtnut.com/l/_Cjmqv5igwZxC
https://dl.doubtnut.com/l/_70kZHW34PKEC
https://dl.doubtnut.com/l/_KeAElUeAsTPq


B. Sodium sulphite

C. Sodium nitrate

D. Sodium hydrogen phosphate

Answer: a

Watch Video Solution

22. A white powder when strongly heated gives off brown fumes. A

solution of this powder gives a yellow precipitate with a solution of KI

when a solution of barium chloride is added to a solution of powder, a

white precipitate results .This white powder may be

A. A solution sulphate

B. Kbr or NaBr

C. 

D. 

Ba(NO3)2

AgNO3

https://dl.doubtnut.com/l/_KeAElUeAsTPq
https://dl.doubtnut.com/l/_e17vqUpeHBdu


Answer: d

Watch Video Solution

23. The ion that cannot be precipitate by both HCI and  is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

H2S

Pb2 +

Cu⊕

Ag⊕

Sn2 +

24. The presence of magnesium is confimed in the qualitative analysis

by the formation of a white crystalline precipitate of :

https://dl.doubtnut.com/l/_e17vqUpeHBdu
https://dl.doubtnut.com/l/_2b1hlZ0BJ1zI
https://dl.doubtnut.com/l/_tIYMvqitH9py


A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Mg(HCO3)2

MgNH4PO4

MgNH4(HCO3)3

MgCO3

25. In qualitative inorganic analysis phosphate , if present, is to be

eliminated in the appropriate group in order to detect the radical :

A. 

B. 

C. 

D. 

Answer: c

Pb2 +

As3 +

Ca2 +

Cd2 +

https://dl.doubtnut.com/l/_tIYMvqitH9py
https://dl.doubtnut.com/l/_StZz56qFhcqj


Watch Video Solution

26.  cannot be used in place of  for the

precipitation of group V because

A. interferes in the detection of group V

B. Concentration of  is very low

C. Na will react with acid radicals

D. Mg2+` will be precipitated

Answer: d

Watch Video Solution

Na2CO3 (NH4)2CO3

Na⊕

CO2 −
3

27. Disodium hydrogen phosphate is used to test :

A. Mg2 +

https://dl.doubtnut.com/l/_StZz56qFhcqj
https://dl.doubtnut.com/l/_QTUAeXG4Rva9
https://dl.doubtnut.com/l/_sZWcVF6Ufkc0


B. 

C. 

D. All of these

Answer: a

Watch Video Solution

Na⊕

Ca2 +

28. Reddish - brown (chocolate ) ppt. is formed with :

A. 

B.  and 

C.  and 

D. None of these

Answer: a

Watch Video Solution

Cu2 + and Fe(CN)
4 −
4

Ba2 + SO
2 +
4

Pb2 + I Θ

https://dl.doubtnut.com/l/_sZWcVF6Ufkc0
https://dl.doubtnut.com/l/_GMF5pWVlOXzg


29. Addition of  to  gives precipitate:

A. white turning to grey

B. Black turning to white

C. white turning to red

D. None of these

Answer: a

Watch Video Solution

SnCl2 HgCl2

30. To avoid the precipitation of hydroxides of

 along with those of 

 the third group cations, solution should be:

A. Heated with a few drop of cone 

B. Treated with excess of 

Ni2 + , Co2 + , Zn2 + and Mn2 +

Fe3 + , Al3 + and Cr3 +

HNO3

NH4CI

https://dl.doubtnut.com/l/_KaNJxMPCZlIr
https://dl.doubtnut.com/l/_OyzCzCTbTGMr


C. Conccotrated

D. None of these

Answer: b

Watch Video Solution

31. Which of the gives a white precipitate with a solution of , a

white precipitate with dil  and a green flame test ?

A. Copper chloride

B. Copper nitrate

C. Lead nitrate

D. Barium chloride

Answer: d

Watch Video Solution

AgNO3

H2SO4

https://dl.doubtnut.com/l/_OyzCzCTbTGMr
https://dl.doubtnut.com/l/_30nn863cwa1e


32. In qualitative inorganic analysis of basic radicals hydrochloric acid is

preferred to nitric acid for preparing a solution of given substance .This

is because :

A. Nitrates are not decomposed to sulphides

B. Nitric acid contain nitrogen

C. Hydrocholoric acid is not an oxidising agent

D. Chlorides are easily converted to sulphides

Answer: c

Watch Video Solution

33. Addition of solution of oxalate to an aqueous solution of mixture of

 and  will precipitate :

A. 

B.  and 

Ba2 + , Sr2 + Ca2 +

Ca2 +

Ca2 + Sr2 +

https://dl.doubtnut.com/l/_uGX52J1rRuPV
https://dl.doubtnut.com/l/_oKK604SsvZh8


C.  and 

D. All the three

Answer: d

Watch Video Solution

Ba2 + Sr2 +

34. The reagent that distinguishes between silver and lead salt is

A.  gas

B. dil. HCI solution after this dissolved in hot water

C. 

D.  solution

Answer: b

Watch Video Solution

H2S

NH4CI(solid) + NH4OH(solution)

NH4CI(solid) + NH4)2CO3

https://dl.doubtnut.com/l/_oKK604SsvZh8
https://dl.doubtnut.com/l/_XNW2hULFPhdH


35. Sulphide ions react with  to form a purple

coloured compound  In the reaction, the

oxidation state of iron is:

A. Changes from + 2 to + 3

B. Changes from + 3 to + 2

C. Changes from + 2 to + 4

D. does not change

Answer: d

Watch Video Solution

Na2[Fe(NO)(CN)5]

Na4[Fe(CN)5(NOS)]

36. The product of reaction of an aq solution of  salt with sodium

thiosuiphate gives

A. BiS

B. 

Bi3 +

Bi2(S2O3)3

https://dl.doubtnut.com/l/_fTJRk5UvWCeA
https://dl.doubtnut.com/l/_dV7zP2cxFwJX


C. 

D. 

Answer: b

Watch Video Solution

Na[Bi(S2O3)2]

[Bi2(S2O3)2]Cl2

37. Number of protons in Sodium and Sodium ion are same. True or

False

Watch Video Solution

38. Few drop of  are added to II group if before preceeding to

group III in order to :

A. Covert  to 

B. Convert  to 

C. ppt group III

HNO3

Fe2 + Fe3 +

Fe3 + Fe2 +

https://dl.doubtnut.com/l/_dV7zP2cxFwJX
https://dl.doubtnut.com/l/_dZ08HH5Bd2OC
https://dl.doubtnut.com/l/_8MDxUzEwMPe1


D. None of these

Answer: a

Watch Video Solution

39. A reddish pink substance on heating gives off a vapour which

condenses on the sides of the test tube and the substance turns blue.

It on cooling, water is added to the residue then, it turns to its original

colour. The substance is:

A. Iodine crystals

B. Copper sulphate crystals

C. Cobalt chloride crystals

D. Zine oxide

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_8MDxUzEwMPe1
https://dl.doubtnut.com/l/_axjeoSFaUuQb


40. An inorganic Lewis acid  shows the following reactions : 


(a) It fumes in moist air. 

(b) The intensity of fumes increase when a rod dippod in  is

brought near it. 

( c) To an aqueous solution of , addition of  and 

gives a precipitate which dissolves in  solution. 


(d) An acidic solution of  does not give a precipitate with . 


Identify  and gives chemical reactions for  to .

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

(X)

NH4OH

(X) NH4Cl NH4OH

NaOH

(X) H2S

(X) (a) (d)

FeCI3

AICI3

SnCI2

ZnCI2

https://dl.doubtnut.com/l/_axjeoSFaUuQb
https://dl.doubtnut.com/l/_p4QO2gRwsGsF


41. A colourless  is soluble in water and also in alcohol and amies.

ON string heating (X) gives a brown gas  and a grey residue 

dissolves in ammon to give a solution  which gives silver mirror with

aldelydes .A solution of (X) is easly reduced by iron (II) sulphide .A

solution of  also gives a brick red precipitate with potassium

dishronate solution .Hence , choose the correct qalternative

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

(X)

(Y ) (X)

(Z)

(X)

      X  Y   Z

Pb(NO3)2 NO2 Ag2O

    X  Y        Z

AgNO3 NO [Ag(NH3)2]
⊕

      X  Y   Z

AgNO3 NO2 Ag2O

      X  Y         Z

AgNO3 NO2 [Ag(NH3)2]
⊕

https://dl.doubtnut.com/l/_AaxccNIcpfNG


42. Salt mixture  


 


Salt is consisting of cation

A.  and 

B.  and 

C.  and 

D.  and 

Answer: c

Watch Video Solution

dil .HCI
−−−−→

Pb2 + Hg2 +

Pb2 + Hg2 +
2

Pb2 + Ag⊕

Pb2 + , Hg2 +
2

Ag⊕

43. 





Hg(NO3)
2

Δ
−−→ W + X + O2

X + H2O → HNO2 + HNO3

https://dl.doubtnut.com/l/_sRDMhOheEqRm
https://dl.doubtnut.com/l/_eQgFk3HK7cRY


Exercises (Single Correct) Part-D (Miscellaneous)




A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

W + HNO3 → Y + NO + H2O

Y + Na2S2O3(excess) → Z + 2NaNO3

W  X      Y         Z

Hg NO Hg(NO3).2 Na[Hg(S2O3)2]

W  X      Y         Z

Hg NO2 Hg(NO3).2 Na2[Hg(S2O3)2]

W  X      Y         Z

Hg N2O Hg(NO3).2 Na2[Hg(S2O3)2]

W  X      Y         Z

Hg N2O3 Hg(NO3).2 Na3[Hg(S2O3)2]

1. Prussian blue is formed when

A. Ferrous sulphate reacts with 

B. Forric sulphatee reacts with 

FeCI3

K4[Fe(CN)6]

https://dl.doubtnut.com/l/_eQgFk3HK7cRY
https://dl.doubtnut.com/l/_eFuNl8YhEz4j


C. Ferrous ammonium sulphatee reacts with 

D. Ammonium sulphate reacts with 

Answer: b

Watch Video Solution

FeCI3

FeCI3

2. A metal salt solution forms a yellow precipitate with potassium

chromate in acetic acid, a white precipitate with dilute sulphuric acid

but does not give precipitate with sodium chloride or iodide. The white

precipitate obtained when sodium carbonate is added to the metal salt

solution will consist of

A. Lead carbonate

B. basic lead carbonate

C. Barium carbonate

D. Strontium carbonate

https://dl.doubtnut.com/l/_eFuNl8YhEz4j
https://dl.doubtnut.com/l/_HtT54OAuWMFD


Answer: c

Watch Video Solution

3. Chemical volcano is produced on heating

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

K2Cr2O7

(NH4)2Cr2O7

ZnCr2O7

K2CrO4

https://dl.doubtnut.com/l/_HtT54OAuWMFD
https://dl.doubtnut.com/l/_EVsgxP9BEh6Q


4.  Identify A.

A. 

B. 

C. 

D. All are correct

Answer: c

Watch Video Solution

FeCI3

Fe(SO4)
3

FeSO4

https://dl.doubtnut.com/l/_Py4FS2PeHsre


5. 


Identify A

A. 

B. 

C. 

D. All are correct

Answer: c

Watch Video Solution

FeSO4

(NH4)2SO4

FeSO4(NH4)2SO4.6H2O

6.  . Then  will beFe + conc. HNO3
( > 80 % )

→ X X

https://dl.doubtnut.com/l/_QmrCuVTAI19n
https://dl.doubtnut.com/l/_TsTFW1WhDa1A


Exercises (Assertion-Reasion)

A. 

B. 

C. 

D. None of these

Answer: c

Watch Video Solution

Fe2O3

FeO

Fe3O4

1. Assertion :When  is passed through a solution of  no

precipitate of  is abtain until the solution is acidified with 


Reasion: The solution products constant of  is not so high as to

require a high concen tration of  for the precipitate of 

A. If both (A) and (B) are correct and (R ) is the correct explqanation

of (A)

H2S CuSO4

CuS HCI

CuS

S2 − CuS

https://dl.doubtnut.com/l/_TsTFW1WhDa1A
https://dl.doubtnut.com/l/_R97B2K0PkR5V


B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: d

Watch Video Solution

2. Assertion : A solution of  in  gives a white prrecipitate

when acidified with 


Reasion :  decompoes in the presence of 

A. If both (A) and (B) are correct and (R ) is the correct explqanation

of (A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

AgCI NH4OH

NHO3

[Ag(NH3)2]
⊕

HNO3

https://dl.doubtnut.com/l/_R97B2K0PkR5V
https://dl.doubtnut.com/l/_kdvMrTEiWiH0


C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: a

Watch Video Solution

3. Assertion: concentrated solution of  can be hydrolysed with

water. 

Reason:  does not change in composition with dilution.

A. If both (A) and (B) are correct and (R ) is the correct explqanation

of (A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

BiCl3

BiCl3

https://dl.doubtnut.com/l/_kdvMrTEiWiH0
https://dl.doubtnut.com/l/_nwInB4xyEJVj


Answer: c

Watch Video Solution

4. Assertion: When  is passed through a solution containing 

 ions, only cadmium precipitates as

CdS. 

Reason: The oxidation state and coordination number of cadmium in

 are II and 4 respectively.

A. If both (A) and (B) are correct and (R ) is the correct explqanation

of (A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

H2S

[Cu(CN)4]
2 −

and [Cd(CN)4]
2 −

[Cd(CN)4]
2 −

https://dl.doubtnut.com/l/_nwInB4xyEJVj
https://dl.doubtnut.com/l/_v1GLrCPnf0mE


Answer: b

Watch Video Solution

5. Assertion : The blue precipitate formed by the action of

 and by that of  on  have

the same composition 

Reasion :  oxides  to  and itself gets reduced

to .

A. If both (A) and (B) are correct and (R ) is the correct explqanation

of (A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

K4[Fe(CN)6]onFe3 + K2[Fe(CN)6] Fe2 +

[Fe(CN)6]
3 −

Fe2 + Fe3 −

[Fe(CN)6]
4 −

https://dl.doubtnut.com/l/_v1GLrCPnf0mE
https://dl.doubtnut.com/l/_YhDb5eTwJvki


Answer: a

Watch Video Solution

6. The brown ring complex compound is formulated as

. The oxidation state of  is

A. If both (A) and (B) are correct and (R ) is the correct explqanation

of (A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: a

Watch Video Solution

[Fe(H2O)5NO]SO4 Fe

https://dl.doubtnut.com/l/_YhDb5eTwJvki
https://dl.doubtnut.com/l/_57QBGu7zFbn6
https://dl.doubtnut.com/l/_BqsIudp6dXKi


7. Assertion :  ions do not interfere in the chromyl chloride test for

chloorides 

Reasion : A bromide on oxidation with  concentrates 

liberates  which dissolve in  to give a colourless solution

A. If both (A) and (B) are correct and (R ) is the correct explqanation

of (A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: a

Watch Video Solution

BrΘ

K2Cr2O7 H2SO4

Br2 NaOH

https://dl.doubtnut.com/l/_BqsIudp6dXKi


8. Assertion: When a solution of  is acidified with dilute HCl

and treated with  a precipitate of ZnS is formed. 


Reason:  is decomposed by HCl to give  ions.

A. If both (A) and (B) are correct and (R ) is the correct explqanation

of (A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: d

Watch Video Solution

Na2ZnO2

H2S,

Na2ZnO2 Zn2 +

9. Assertion:  dissolves in an excess of NaOH solution as well

as  solution. 


Zn(OH)2

NH4OH

https://dl.doubtnut.com/l/_dV76UO9kNaD1
https://dl.doubtnut.com/l/_hol6hq6e0b9h


Exercises (Integer) (Naming And Terminology

Reason:  forms the soluble zincate salts with these alkalies.

A. If both (A) and (B) are correct and (R ) is the correct explqanation

of (A)

B. If both (A) and (B) are correct but (R ) is not the correct

explqanation of (A)

C. If (A) is correct ,but (R ) is incorrect

D. If (A) is incorrect ,but (R ) is correct

Answer: c

Watch Video Solution

Zn(OH)2

1. An aqueous solution contains  Out

of these how many ions will produce white precipitate with dilute HCl ?

W t h Vid S l ti

Hg2 + , Hg2 +
2 , Pb2 + and Cd2 +

https://dl.doubtnut.com/l/_hol6hq6e0b9h
https://dl.doubtnut.com/l/_0DStaH5WG7AP


Watch Video Solution

2. How many compounds liberate  on heating from the following ? 


Watch Video Solution

NH3

(NH4)2SO4, (NH4)2CO3, NH4Cl, NH4NO3, (NH4)2Cr2O7

3. How many water molecule(s) is/are present in microcosmic salt ?

Watch Video Solution

4. 

are separately treated with  solution in how many cases is/are

white ppt obtained ?

Watch Video Solution

Na2SO3, NaCl, Na2C2O4, Na2HPO4, Na2CrO4, NaNO2, CH3CO2Na

AgNO3

https://dl.doubtnut.com/l/_0DStaH5WG7AP
https://dl.doubtnut.com/l/_7hZKI1BCcpUr
https://dl.doubtnut.com/l/_AyLeCyH33Fib
https://dl.doubtnut.com/l/_ViHQD1fwcIXD
https://dl.doubtnut.com/l/_SBf2pwPCkdGO


5. Find the number of compounds which have yellow colour ppt from

the given compounds : 

Watch Video Solution

Ag2CrO4, PbCrO4, Hg2CrO4, BaCrO4

6. Find the number of ion which are identified by dil. HCI from the

following : 

(i) (ii)  (iii)

Watch Video Solution

CO2 −
3 SO2 −

3 SO
2 −
4

7. Find the number of reducing agents from the following 

Watch Video Solution

H2S, SO3, CrO2 −
4 , Fe2 + , MnOΘ

4

https://dl.doubtnut.com/l/_SBf2pwPCkdGO
https://dl.doubtnut.com/l/_fqVtAqsVeLRe
https://dl.doubtnut.com/l/_R31Wcj5QIlO3


8. How many water of crystallisition is/are present in the ore carnallite?

Watch Video Solution

9.  . What

is the oxidation number of central atom that is responsible for green in

compound (A) ?

Watch Video Solution

BO3 −
3 + Conc. H2SO4 + CH3 − CH2 − OH

ignite
−−→ (A)

Green flame

10.  are separately treated

with  solution in how many cases is/are red ppt abtained ?

Watch Video Solution

Na2SO3, Na2S2O3, Na2CO3, Na2CrO4

AgNO3

11. In how many of the following reactions, one of the products is

obtained as a yellow precipitate ? 

https://dl.doubtnut.com/l/_Xcahp9fORaSV
https://dl.doubtnut.com/l/_oix2kBr2oZTY
https://dl.doubtnut.com/l/_ocbJJp3JziS0
https://dl.doubtnut.com/l/_oz8KLjhsnZKu


Watch Video Solution

Ba2 + + CrO2 −
4

−−→ Product

Hg2 + + Co2 + + SCN Θ −−→ Product

NH
⊕

4 + [PtCl6]
2 −

−−→ Product

Ag⊕ + CrO2 −
4

−−→ Product

NH ⊕
4

+ [Co(NO2)
6
]

3 −
−−→ Product

12. A solution of  ion on treatment with a solution of cobalt (II)

thiocyanate gives rise to a deep blue crystalline precipitate .Then the

coordination number of mercury in the deep blue coloured compound

is:

Watch Video Solution

Hg2 +

13. How many water moleculer(s) is/are presents in compound which is

used in borax bead test?

Watch Video Solution

https://dl.doubtnut.com/l/_oz8KLjhsnZKu
https://dl.doubtnut.com/l/_qzjyCYZS1VEq
https://dl.doubtnut.com/l/_VsK2W85XD0Oo
https://dl.doubtnut.com/l/_3imyrALWQahT


Exercises (Fill In The Blanks)

14.  Brown ring .The

oxidation number of iron in brown ring complex is

Watch Video Solution

Fe2 + . ( aq ) + NOΘ
3 . ( aq ) + H2SO4(conc. ) →

15. In how many of the following reactions, one of the products is

obtained is a black precipitate ? 

i.  Products 


ii.  (not in excess)  Producets 


iii.  Producets 


iv.  Products

Watch Video Solution

Bi(OH)3
⏐⏐↓ + [Sn(OH)4]

2 −
. ( aq ) →

Bi3 + . ( aq ) + I Θ . ( aq ) →

Ag⊕ . ( aq ) + H2S ( g )

H ⊕

−−→

[BiI4]
Θ

. ( aq ) + H2O ( I )

Dilution
−−−−→

1. Reagent used to test  ion is (a)_____.Ni2 +

https://dl.doubtnut.com/l/_3imyrALWQahT
https://dl.doubtnut.com/l/_2dn88NNEaiq1
https://dl.doubtnut.com/l/_FldPjP1hUFPt


Watch Video Solution

2.  is made soluble in NaOH in presence of _________(a)________

when (b) _____of____(c ) ____ colour is formed and gives yellow ppt. of (d)

_____when (e ) ____ is added.

Watch Video Solution

Cr(OH)3

3.  and  ppt. can be separated by (a) ___when (b)___

becomes soluble due to the formation of (c ) ___ and (d) ____ remain

insoluble.

Watch Video Solution

Fe(OH)3 Al(OH)3

4. If orange turbidity appears on dilution with  of the solution in

dil HCl , it is due to (a) ___and (b) _____ ion is assumed confirmed.

Watch Video Solution

H2O

https://dl.doubtnut.com/l/_FldPjP1hUFPt
https://dl.doubtnut.com/l/_CgdB1xbgmybH
https://dl.doubtnut.com/l/_mAnwaoQvb4LU
https://dl.doubtnut.com/l/_7pIquB3M7aTx


5. Copper sub-group ppt. and arsenic salt -group ppt. are sepeated

using (a) ____.

Watch Video Solution

6.  is soluble in (a) ____.  is soluble in (b) _____ white 

is (c ) ___by 

Watch Video Solution

PbCl2 AgCl Hg2Cl2

NH3

7.  and  are seprated by (a) ___formation using (b) ___in

which (c ) is more stable then (d ) ____ . On passing  gas (e ) ____. Is

precipitate.

Watch Video Solution

Cd2 + Cu2 +

H2S

https://dl.doubtnut.com/l/_7pIquB3M7aTx
https://dl.doubtnut.com/l/_5m5S0sdmKVLH
https://dl.doubtnut.com/l/_WGy0oaT7NMY4
https://dl.doubtnut.com/l/_GmVDGzalO1Wp


8. Precipitation of  and  takes place in presence of (a)____by

(b)____.

Watch Video Solution

Cd2 + Cu2 +

9.  is added along with  in group (a)_____to (b)____

concentration of (c ) ____.

Watch Video Solution

NH4Cl NH4OH

10. Separation of basic radicals is based on (a) ____ and (b) ____.

Watch Video Solution

11. Gas that turns lime water milky and aciddied  green is (a)

____.

Watch Video Solution

K2Cr2O7

https://dl.doubtnut.com/l/_gW86hq2xdbrq
https://dl.doubtnut.com/l/_qUZDmWtiJbDl
https://dl.doubtnut.com/l/_RbN5aSICIgPV
https://dl.doubtnut.com/l/_3NRdAfctsMnt


12.  gives red colour with (s) ____ due to the formation of (b)

_____.

Watch Video Solution

NH4SCN

13.  gives orange ppt , with (a) ___, which dissolves in excess of it

forming (b) ____ called (c ) ____.

Watch Video Solution

HgCl2

14.  is precipitate if its produces (a)____is (b) ____ that 

Watch Video Solution

Al(OH)3 Ksp

15.  is soluble in (a) _____ due to formation of (b) _____.

W h Vid S l i

PbSO4

https://dl.doubtnut.com/l/_3NRdAfctsMnt
https://dl.doubtnut.com/l/_SsuwroKWII8h
https://dl.doubtnut.com/l/_90cC2VvKkjtF
https://dl.doubtnut.com/l/_sagnjxtciD6M
https://dl.doubtnut.com/l/_nYsPballJkqI


Watch Video Solution

16. A reagent that can detect any of  and  is

______(a)______.

Watch Video Solution

Cu2 + , Fe3 + , Zn2 + Cd2 +

17.  gives blue coloue, called(a)____ with (b)___white  gives

blue coloue, called(c)____ with (d)____.

Watch Video Solution

Fe2 + Fe2 +

18. Ferric alum is the indicator in the titration of  with 

when (a)_____colour appears at the end point .

Watch Video Solution

Ag⊕ SCN Θ

https://dl.doubtnut.com/l/_nYsPballJkqI
https://dl.doubtnut.com/l/_SQ3vFEipJjiE
https://dl.doubtnut.com/l/_cDSRQSicPTZB
https://dl.doubtnut.com/l/_u8es4of5Pjyw


19.  can decolorise acidified  due to the oxidation of

(a) _____and (b)____.

Watch Video Solution

FeC2O4 KMnO4

20. Acidified  can be decolourised by (a)_____.

Watch Video Solution

KMnO4

21. Iron (II)sulphide gives foul smell of (a)___.

Watch Video Solution

22. AgBr is soluble in hypo forming (a) ______.

Watch Video Solution

https://dl.doubtnut.com/l/_jyR6Na3SOz93
https://dl.doubtnut.com/l/_FJV4tOB8CDj0
https://dl.doubtnut.com/l/_V1MhdtGow3cR
https://dl.doubtnut.com/l/_HXVBwjohF5Di
https://dl.doubtnut.com/l/_zbJldVKwKR4h


23.  is detected by (a) _____when (b)_____is formed on the addition

of  and cone 

Watch Video Solution

NOΘ
3

FeSO4 H2SO4

24. is confirmed by (a) ____.

Watch Video Solution

CI Θ

25. Addition of one drop of  in group (III) analysis is to (a) _____.

Watch Video Solution

HNO3

26. Reagent that can detect any of  and  is (a) ____.

Watch Video Solution

Fe3 + , Co2 + Cu2 +

https://dl.doubtnut.com/l/_zbJldVKwKR4h
https://dl.doubtnut.com/l/_oGM260Wsdv02
https://dl.doubtnut.com/l/_5zpSl07LzuAP
https://dl.doubtnut.com/l/_JePVZgoUur2q


27. While testing borate, green edged flame is due so formation of (a)

_____.

Watch Video Solution

28. When  is passed into suspention of  in water (a) _____ is

formed.

Watch Video Solution

SO2 CaSO3

29. Alkaline  salt give brown ppt with ; brown ppt Is called

______of_____.

Watch Video Solution

N
⊕

H4 K2HgI4

30. Even in the absence of group II,colloidal yellowish ppt appears on

passing  gas , it may be due to the presence of (a) _____.H2S

https://dl.doubtnut.com/l/_Hiwuhh5zXIfc
https://dl.doubtnut.com/l/_loDtfbUgNfpp
https://dl.doubtnut.com/l/_qqJI4zWK9yJj
https://dl.doubtnut.com/l/_NumSQNGTgb0J


Watch Video Solution

31. Hypo gives (a) ____ppt. with  which changes to (b) ____.

Watch Video Solution

AgNO3

32. Reddish brown colouration when neutral  is added to the 

 aq solution is due to the formation of (a) ____.

Watch Video Solution

FeCl3

CH3COO
Θ

33.  is soluble in  (yellow ammonium sulphide) due to

the formation of (a) _____.

Watch Video Solution

As2S3 (NH4)2S2

https://dl.doubtnut.com/l/_NumSQNGTgb0J
https://dl.doubtnut.com/l/_snjebyZFfRhw
https://dl.doubtnut.com/l/_8qImL9g0YWLi
https://dl.doubtnut.com/l/_zQvVQfqJseOK


34. On heating the salt with and ammonium molybdate ,

formation of yellow ppt indicates the presence of (a)_____or (b) _____.

Watch Video Solution

NHO3

35. gives white ppt. of (a)____ with (b) ____ and deep blue colour of

_____(c ) ______with (d) ____.

Watch Video Solution

Cu2 +

36. AgCl is soluble in (a)____ and  is present in (b)_____.

Watch Video Solution

Ag⊕

37.  aprecipitate if (a) ____is greater than .

Watch Video Solution

Hg2Cl2 Ksp(Hg2Cl2)

https://dl.doubtnut.com/l/_UZIRXLN6RNfs
https://dl.doubtnut.com/l/_gfLPYhzKoZGa
https://dl.doubtnut.com/l/_ug1kLjhLJ5Mu
https://dl.doubtnut.com/l/_SoEyztuyJwTR


38. Sodium carbonate and mixture are taken in ___ ratio while perparing

sodium carbonate extract

Watch Video Solution

39.  in aq solution give yellow ppt ,with (a)____ as well as with

(b)___.

Watch Video Solution

BaBr2

40. Yellow ppt of (a)_____ is formed when  reacts with excess of 

 in presence of .

Watch Video Solution

CoCl2

KNO2 CH3COOH

41. Microcosmic salt reacts with coloured ions to form characteristic

bead which is due to formation

https://dl.doubtnut.com/l/_fndjJPA9cFYk
https://dl.doubtnut.com/l/_Z6ZAOcZL9WiF
https://dl.doubtnut.com/l/_Q37JLv40rMAm
https://dl.doubtnut.com/l/_iikivV3Y25sh


Exercises (True And False )

Watch Video Solution

42. Th esodium carbobate bead test test is which  is along

instead of barax it is solution to chromiam and ____.

Watch Video Solution

Na2CO3

1. Turnbull's blue and prussian's blue respectively are

 and . True or False?

Watch Video Solution

KFeII[FeIII(CN)6] KFeII(Fe11(CN)6]

2.  is  will be precipitating at

the limiting :

Watch Video Solution

KspofMg(OH)2 1 × 10− 12, 0.01MMgCI2

pH

https://dl.doubtnut.com/l/_iikivV3Y25sh
https://dl.doubtnut.com/l/_cwwy1uH16mv2
https://dl.doubtnut.com/l/_Mtv1sInUJUTj
https://dl.doubtnut.com/l/_LVnOkgUwCdQA


3. There is ppt. of solute AB if its product is greater than  value i.e. 

True/false

Watch Video Solution

Ksp

[A][B] > Ksp

4. Chlorine gas is passed into a solution containing KF, KI and KBr and


​
is added. The initial colour in 
​
layer is:

Watch Video Solution

CHCl3 CHCI3

5. When  gas is passed into aq  solution white ppt of ZnS is

obtained. Explain.

Watch Video Solution

H2S ZnCl2

6. Dilute  can be used in group of dil HCI. True/FalseH2SO4

https://dl.doubtnut.com/l/_LVnOkgUwCdQA
https://dl.doubtnut.com/l/_L3eBGYNJZNcb
https://dl.doubtnut.com/l/_jSr9vpe8RpJ5
https://dl.doubtnut.com/l/_6ymFPxCxYkrN
https://dl.doubtnut.com/l/_hyPVMRi5u1zo


Watch Video Solution

7.  can be replaced by  in group III.

Watch Video Solution

NH4CI (NH4)2SO4

8. Alkaline solution of  gives ppt with 

Watch Video Solution

NH4Cl K2HgI4

9. When  and  is added as  solution, yellow

ppt of  is formed.

Watch Video Solution

KNO2 CH2COOH CoCl2

K4[Cu(NO2)6]

10.  is used to test 

Watch Video Solution

K4[Fe(CN)6] Cu2 + , Fe2 + , Zn2 + , Cd2 +

https://dl.doubtnut.com/l/_hyPVMRi5u1zo
https://dl.doubtnut.com/l/_Iwx5dPgUoMM9
https://dl.doubtnut.com/l/_szPbq8ecoUii
https://dl.doubtnut.com/l/_741nUx22fLum
https://dl.doubtnut.com/l/_lIHmO24Rr3G1


Watch Video Solution

11.  is black ened by  due to formation of iodide of millon's

base

Watch Video Solution

Hg2Cl2 NH3

12. White ppt of  is soluble in aq .
(T/F)

Watch Video Solution

PbCl2 NH3

13. If acidified solution of  turm green on addition of a salt

three salt may contain .

Watch Video Solution

K2Cr2O7

Fe2 +

https://dl.doubtnut.com/l/_lIHmO24Rr3G1
https://dl.doubtnut.com/l/_IZCVMFCIDkno
https://dl.doubtnut.com/l/_nnBEiG6jJMUr
https://dl.doubtnut.com/l/_dzlgoRpJsLhm


14. In group II, Formqation of whichsh tarbidity on dilation with 

indicate  .

Watch Video Solution

H2O

Sb3 +

15.  can be used to seprate and  .
(T/F)

Watch Video Solution

NaOH Al(OH)3 Zn(OH)2

16.  can be used to make distanction between  and 

.

Watch Video Solution

NH4SCN Cu2 +

Co2 +

17. Yellow ammonium sulphide (YAS) can be used to seprate SnS and

.
(T/F)

Watch Video Solution

As2S3

https://dl.doubtnut.com/l/_TMWCmMfIuEcW
https://dl.doubtnut.com/l/_14rXDRzktxv1
https://dl.doubtnut.com/l/_N9D0hu3lTF55
https://dl.doubtnut.com/l/_ScDolWr4inRH


Exercises Archives (Linked Comprehension)

18.  can be used to seprate and  .
(T/F)

Watch Video Solution

NaOH Al(OH)3 Zn(OH)2

19.  is soluble is axcess of  forming sodium metaaluminate

.

Watch Video Solution

AlCl2 NaOH

Na[Al(OH)4]

20.  gives yellow ppt with  as well as with .
(T\F)

Watch Video Solution

BaBr2 AgNO3 K2CrO4

https://dl.doubtnut.com/l/_ScDolWr4inRH
https://dl.doubtnut.com/l/_l1cjnZ43q840
https://dl.doubtnut.com/l/_KGsk29vgzgvx
https://dl.doubtnut.com/l/_4rJvJMbzyprm


1. An aqueous solution of a mixture of two inorganic salts when treated

with dilute HCl, gave a precipitate (P) and a filtrate (Q). The precipitate

(P) was found to dissolve in hot water. The filtrate (Q) remained

unchanged, when treated with  in a dilute mineral acid medium.

However, it gave a green precipitate (R)  in an ammoniacal medium.

The precipitate (R) gave a coloured solution (S), when treated with

 in an aqueous NaOH medium. 


The precipitate P contains

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

H2S

H2S

H2O2

Pb2 +

Hg2 +
2

Ag⊕

Hg2 +

https://dl.doubtnut.com/l/_bHV76AIyQSrL
https://dl.doubtnut.com/l/_RvmBitz50mVn


Exercises Archives (Multiple Correct)

2. An aqueous solution of a mixture of two inorganic salts when treated

with dilute HCl, gave a precipitate (P) and a filtrate (Q). The precipitate

(P) was found to dissolve in hot water. The filtrate (Q) remained

unchanged, when treated with  in a dilute mineral acid medium.

However, it gave a green precipitate (R) in with  in ammoniacal

medium. The precipitate (R) gave a coloured solution (S), when treated

with  in an aqueous NaOH medium. 


The coloured solution (S) contains

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

H2S

H2S

H2O2

Fe2(SO4)3

CuSO4

ZnSO4

Na2CrO4

https://dl.doubtnut.com/l/_RvmBitz50mVn


1. The reagents  and  will precipitate :

A. 

B. 

C. 

D. 

Answer: b,c

Watch Video Solution

NH4Cl NH3

Ca2 +

Al2 +

Bi2 +

Mg2 +

2. Which of the following statement is/are correct with reference to the

ferrous and ferric ions?

A.  gives brown colour with potassium ferricyanide

B.  gives blue precipitate with potassium ferricyanide

C.  gives red colour with potassium thlocyanate

Fe3 +

Fe2 +

Fe3 +

https://dl.doubtnut.com/l/_6JKqs5jNhFC8
https://dl.doubtnut.com/l/_jV6I74U8tOu7


D.  gives brown colour with ammonium thiocyatute

Answer: b,c

Watch Video Solution

Fe2 +

3. A solution of colourless salt on boiling with excess  produces

a non-flammable gas. The gas evolution ceases after sometime upon

addition of  dust to the same solution, the gas evolution restarts.

The colourless salt (s) is (are).

A. 

B. 

C. 

D. 

Answer: a,b

Watch Video Solution

NaOH

Zn

NH4NO3

NH4NO2

NH4CI

(NH4)2SO4

https://dl.doubtnut.com/l/_jV6I74U8tOu7
https://dl.doubtnut.com/l/_BL9k0MkF8tjX


Exercises Archives (Single Correct)

4. For the given aqaction , which of the statement (s) is (are) true?

A. The first reaction is a redox reaction

B. White precipitate is 

C. Addition of fitrate to solution gives blue colour

D. When precipitate is soluble in NqaOH solution

Answer: a,c,d

Watch Video Solution

Zn4[Fe(CN)6]
2

https://dl.doubtnut.com/l/_BL9k0MkF8tjX
https://dl.doubtnut.com/l/_icXvDUbsdIDx
https://dl.doubtnut.com/l/_XnCRudXljn48


1. The metal ion(s) which is/are not precipitated when is passed

with  is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

H2S

HCl

Pb2 +

Cu⊕

Ag⊕

Sn2 +

2. The pair of compounds which cannot exist together in aqueous

solution is , 

(I)  (II)  (III)

 (IV)

A. 

NaH2PO4 and NaHCO3 Na2CO3 and NaHCO3

NaOH and NaH2PO4 NaHCO3 and NaOH

NaHCO3 and NaOH

https://dl.doubtnut.com/l/_XnCRudXljn48
https://dl.doubtnut.com/l/_kRSbsCsWJapc


B. 

C. 

D.  and 

Answer: a

Watch Video Solution

Na2CO3 and NaHCO3

Na2CO3 and NaOH

NaHCO3 NaCI

3. The compound insoluble in acetic acid is

A. calcium oxide

B. calcium carbonate

C. calcium oxalate

D. calcium hydroxide

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_kRSbsCsWJapc
https://dl.doubtnut.com/l/_uCLtTaS3QLSj


4. which among the following pairs of ions cannot be separated by 

in the presence of dilute  ?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

H2S

HCl

Bi3 + , Sn4 +

Al3 + , Hg2 +

Zn2 + , Cu2 +

Ni2 + , Cu2 +

5. Which of the following is formed when execess of  is added to

an aqueous solution of copper sulphate ? .

A. 

B. 

KCN

Cu(CN)2

K2[Cu(CN)4]

https://dl.doubtnut.com/l/_HL30LrnSTyc3
https://dl.doubtnut.com/l/_piJsJnhqfi96


C. 

D. 

Answer: d

Watch Video Solution

K[Cu(CN)2]

K3[Cu(CN)4]

6. An aqueous solution of  and chrome alum is

heated with excess of  and filtered. The materials obtained are

A. A colourless fitrate and a green residue

B. A yellow fitrate and a green residue

C. A yellow fitrate and a brown residue

D. A green fitrate and a green brown

Answer: c

Watch Video Solution

FeSO4. Al2(SO4)3

Na2O2

https://dl.doubtnut.com/l/_piJsJnhqfi96
https://dl.doubtnut.com/l/_LdHzecBIYUoc


7. An queous solution of a substance gives a white precipitate on

treating with dilute hydrochloric acid which dissolves on heating. When

hydrogen sulphide is passed through the hot solution, a black

precipitate is obtained. The substance is :

A.  salt

B.  salt

C.  salt

D. salt

Answer: d

Watch Video Solution

Hg2 +
2

Cr+

Ag⊕

Pb2 +

8. A gas X is passed through water to forms a saturated solution .The

aqueous solution on treatment with AgNO3 also dissolve magnesium

ribbon with the evolation of a colourless gas Y. Identify X and Y

https://dl.doubtnut.com/l/_e73z9Kn1qJpJ
https://dl.doubtnut.com/l/_an5UoQB0Ehih


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

X = CO2, Y = Cl2

X = Cl2, Y = CO2

X = Cl2, Y = H2

X = H2, Y = Cl2

9. , a colourless gas with irritating smell and 


 Green solution [X] and[Y ] are,

respectively -

A. 

B. 

C. 

D. 

[X] + H2SO4 → [Y ]

[Y ] + K2Cr2O7 + H2SO4 →

SO2 −
3 , SO2

CI Θ , HCI

S2 − , H2S

CO2 −
3 , CO2

https://dl.doubtnut.com/l/_an5UoQB0Ehih
https://dl.doubtnut.com/l/_e7ybSHyqE24s


Answer: a

Watch Video Solution

10. A soldium salt of unknown anion when treated with  gives

white precipitate only on boiling. The anion is:

A. 

B. 

C. 

D. 

Answer: b,c

Watch Video Solution

MgCl2

SO
2 −
4

HCOΘ
3

CO2 −
3

NOΘ
3

11. A metal nitrate reacts with KI solution to give a block precipitate

which on addition of excess of KI solution forms an orange coloured

https://dl.doubtnut.com/l/_e7ybSHyqE24s
https://dl.doubtnut.com/l/_D9nx8Xdq7VrF
https://dl.doubtnut.com/l/_hLcEUqpPJ3YC


solution. The cation of metal nitrate is :

A. 

B. 

C. 

D. 

Answer: b,c

Watch Video Solution

Hg2 +

Bi3 +

Pb2 +

Cu⊕

12.  decolourises on addition  , the product is

A. 

B.  get reduced to form 

C. 

D. 

CuSO4 KCN

[Cu(CN)4]
2 −

Cu2 + [Cu(CN)4]
3 −

Cu(CN)2

CuCN

https://dl.doubtnut.com/l/_hLcEUqpPJ3YC
https://dl.doubtnut.com/l/_EfV8kB5Qs2Dl


Answer: d

Watch Video Solution

13. A solution when diluted with  And boiled gives a white

precipitate .On the addition of excess  the volume of

the precipitate decreases leaving behind a white gelationtious

precipitate identify the precipitate which dissolves in

 :

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

H2O

NH4Cl&NH4OH

NH4OH /NH4Cl

Zn(OH)2

Al(OH)3

Mg(OH)2

Ca(OH)2

https://dl.doubtnut.com/l/_EfV8kB5Qs2Dl
https://dl.doubtnut.com/l/_tvqsYT4cEozq


14. The species presents in the solution when  is dissolves in water

are

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

CO2

CO2, H2CO3, HCOΘ
3 , CO2 −

3

H2CO3, CO2 −
3

CO2 −
3 , HCOΘ

3

CO2, H2CO3

15. A solutionf of a metal ion when treated with KI gives a red

precipitate which dissolves in excess KI to give a colourless

solution.Moreover, the solution of metal ion on treatment with a

solution of cobalt (II) thiocyanate gives rise to a deep-blue crystalline

precipitate. The metal ions is

https://dl.doubtnut.com/l/_pjx06xxTCpex
https://dl.doubtnut.com/l/_fjpbLAKTtQQb


A. 

B. 

C. 

D. 

Answer: b,c

Watch Video Solution

Pb2 +

Hg2 +

Cu2 +

Co2 +

16. In an acidified aqueous solution of 

ions,  gas was passed. Precipitates are

A. 

B. 

C. 

D. 

Answer: a

Mn2 + , Ni2 + , Cu2 + and hg2 +

H2S

CuS and HgS

MnS and CuS

MnS and NiS

NiS and HgS

https://dl.doubtnut.com/l/_fjpbLAKTtQQb
https://dl.doubtnut.com/l/_JeMkvNZIfIDB


Watch Video Solution

17. Sulphide does are common for the metals

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

Ag, Cu and Pb

Ag, Cu and Sn

Ag, Mg and Pb

AI, Cu and Pb

18. Upon treatment with ammonical  solution, the metal ion

precipitating as sulphide is:

A. 

H2S

Fe(III)

https://dl.doubtnut.com/l/_JeMkvNZIfIDB
https://dl.doubtnut.com/l/_fmFOZCdgiYV1
https://dl.doubtnut.com/l/_ZjzIzpViDOzs


B. 

C. 

D. 

Answer: d

Watch Video Solution

AI(III)

MG(II)

Zn(II)

19. Roasting of sulphides gives the gas X as a by-product. This is a

colourless gas with choking smell of burnt sulphur and causes great

damage to respiratory organs as a result of acid rain. Its aqueous

solution is acidic acts as a reducing agent and its acid has never

insolated. The gas X is

A. 

B. 

C. 

D. 

CO2

SO3

H2S

SO2

https://dl.doubtnut.com/l/_ZjzIzpViDOzs
https://dl.doubtnut.com/l/_aUkPZYXbMKFU


Exercises Archives (Assertion-Reasoning)

Answer: d

Watch Video Solution

20. Identify the correct order of solubility in aqueous medium

A. 

B. 

C. 

D. 

Answer: b,c

Watch Video Solution

Na2S > CuS > ZnS

Na2S > ZuS > CuS

ZnS > Na2S > CuS

Na2S > CuS > ZnS

https://dl.doubtnut.com/l/_aUkPZYXbMKFU
https://dl.doubtnut.com/l/_GOi1AopuJw1b


1. Assertion (A): A is very dilute acidic solution of  and  gives

yellow precipitate of  on passing hydrogen sulphide. 


Reason (R) : Solubility product of  is more than that of .

A. Statement - I is true ,Statement - II is also true , Statement - II is

the correct explatation for Statement - I

B. Statement - I is true ,Statement - II is true , Statement - II is the

correct explatation for Statement - I

C. Statement - I is true ,Statement - II is false

D. Statement - I is false ,Statement - II is true

Answer: a

Watch Video Solution

Cd2 + Ni2 +

CdS

CdS NiS

2. Assertion (A): Sulphur is estimates as  and not as . 


Reason (R ): The ionic radius of  is less than that of 

BaSO4 MgSO4

Mg2 + Ba2 +

https://dl.doubtnut.com/l/_lyeCDjXYyK9h
https://dl.doubtnut.com/l/_WFdTwBJ3OMYH


Exercises Archives (Integer)

Exercises Archives (Fill In The Blanks Ype)

Watch Video Solution

1. Among PbS, CuS, HgS, MnS, , NiS, CoS,  and , total

number of black coloured sulphides is :

Watch Video Solution

Ag2S Bi2S3 SnS2

1. If matel ions of group II are precipitate by  and 

without prior oxidation by conconirated  _____is not completely

precipitate

Watch Video Solution

NH4CI NH4OH

HNO3

https://dl.doubtnut.com/l/_WFdTwBJ3OMYH
https://dl.doubtnut.com/l/_cj5ahanmyFSx
https://dl.doubtnut.com/l/_wbf7o7SMkbTg


Exercises Archives (True/False)

2. The formula of the deep red liquid formed on warming dichromate

with KCI in concentrated sulphuric acid is _____.

Watch Video Solution

1. The addition of ammonium chloride to a solution containing ferric

and magnesium ions is essential for selective precipitation of ferric

hydroxide by aqueous ammonia.

Watch Video Solution

2. From the solution containing copper  and zinc  ions

copper can be selectively precipitate using sodium sulphide.

Watch Video Solution

( + 2) ( + 2)

https://dl.doubtnut.com/l/_uosHgsQJfis7
https://dl.doubtnut.com/l/_wtKlhS8xALbx
https://dl.doubtnut.com/l/_T9JxIXcbLvKv


Exercises Archives (Subjective)

1. The precipitation of second group sulphides qualitative analysis is

carried out with hydrogen sulphide in the presence of hydrochloric acid

but not with nitric acid .Explain.

Watch Video Solution

2. A white amorphous A on heating yields a colourless, non-combustible

gas B a solid C .The latter compound assumes a yellow colour on

heating and changes to white on cooling C dissolve in dilute

hydrochloric acid and the resulting solution gives a white precipitate

with  solution .A dissolve in dilute HCI with the evolution

of gas , which is identical in all respect B turns lime milky , but the

milkiness disuppears with the contimous passage of gas solution of A

as obtained above gives a white precipitate D on the addition of excess

of  and passing  another portion of the solution gives

initialy a white precipitate E on the addition of NaOH solution , which

K4Fe(CN)6

NH4OH H2S

https://dl.doubtnut.com/l/_El6idl8CMA7Y
https://dl.doubtnut.com/l/_EnCl2gG4QrlW


dissolves on further addition of base , identify the compounds A,B,C,D

and E `

Watch Video Solution

3. Explain the following in not more than two sentences A solution of

 in water gives a brown precipitate on standing .

Watch Video Solution

FeCl3

4. Compound A is the light crystaline solid .IT gives the following tests: 

i. IT dissolves in dilute sulphuric acid, NO gas is produced 

ii. A drop of  is added to the above solution .The pink colour

disappears

iii. Compound A is heated strongly .Gases B and C , with pungent smell ,

come out A brown D is left behind 

iv . THe gas mixture (B and C) is passed into a dchromate solution .The

solution turn green 

MnO4

https://dl.doubtnut.com/l/_EnCl2gG4QrlW
https://dl.doubtnut.com/l/_aCtm3x4qI6WL
https://dl.doubtnut.com/l/_GyBxlGsLOTuS


v. THe green solution from step (iv) gives a white precipitate E with a

soluttion of barium nitrate . 

vi. Residue D from step (iii) is heated on charcoal in a reducing flame it

gives a magnetic subsytance .Name the compounds A,B,C, D and E

Watch Video Solution

5. When  of white solid X was heated, of acid gas A that

turned lime water milky was driven off together with  of a gas B

which condensed to a colourless liquid. The solid that remained Y

dissolved in water to give an alkaline solution , which with excess

barium chloride solution gave a white precipitate Z .THe precipitate

effervence with acid giving carbon dioxide. identify A,B and Y and write

the equation for the decomposition of X

Watch Video Solution

16.8g 4.4g

1.8g

https://dl.doubtnut.com/l/_GyBxlGsLOTuS
https://dl.doubtnut.com/l/_4M7IcnNxjeYI


6. What happens when 

i. Hydrogen sulhide is bubbled through an aqueous solution of sulphur

dioxide .

ii . Aqueous ammonia in added dropwise to a solution of copper

sulphate till it is in excess

iii Tin in treated with concentrated nitric acid d 

iv  solution is treated with sodium hydroxide and then with

hydrogen peroxide 

v.  is treated with nitric acid

Watch Video Solution

CrCI3

Pb3O4

7. Write the blanced equations for the reactions when a mixture of

potassium chlorate, oxalic acid and sulphuric acid is heated.

Watch Video Solution

https://dl.doubtnut.com/l/_DHumd8aXyUio
https://dl.doubtnut.com/l/_FmrBdWGA3dYn


8. Menion the products formed in the following 

i. Zine oxide is treated with excess of sodium hydroxide solution 

ii. Iodine is added to a solution of stamous chloriude 

iii. Sulphur dioxide gas, water vapour and air are passed over heated

sodium chloride

Watch Video Solution

9. Write the balanced equation for the following "potassium

permanganate is reacted with warm solution of oxalic acid in the

presence of sulphuric acid"

Watch Video Solution

10. A mixture of two salt was treated as follows : 

i. The mixture was heated with magnanese dioxide and concentrated

sulphuric acid , when a yellowish -green gas was liberated.

https://dl.doubtnut.com/l/_ajsF0VCzEaFO
https://dl.doubtnut.com/l/_NmpOkI4vhH9b
https://dl.doubtnut.com/l/_jWXOSQfNIoYZ


ii. The mixture on heating with sodium hydroxide solution gave a gas

which turned red litmus blue 

iii. Its solution in water gave a blue precipitate with potassium

ferricyanide and red colourtion with ammonium thiocynate

iv. The mixture was boiled with potassium hydroxide and the librated

gas was bubbled through an alkline solution of  to give a

brown precipitate identify the two salts gives ionic equation for the

reaction involved in the tests (i) , (ii) and (iii).

Watch Video Solution

K2HgI4

11. Write the balancexd chemical equation for the following 

i. Silver chloride is reacted with sodium cyanide and the product thus

formed is allowed to react with zine in an alkline medium .

ii Cobalt (II) solution reacts with  in acetic acid medium

Watch Video Solution

KNO2

https://dl.doubtnut.com/l/_jWXOSQfNIoYZ
https://dl.doubtnut.com/l/_snQ6pgV1KJYy


12. The gas librated , on heating a mixture of two salts with  give

sa reddish brown precipitate with an alkline solution of  the

aqeous solution of the mixture on treatment with  gives awhite

precipitate which is sparingly soluble with  and concentrated

red vapour of A are produced .The aqueous solution of the

mixture gives a deep -blue colouration B with potassium ferrcyanide

soluble identify the redicals in the gives mixture and write the balanced

equation in the gives mixture and write the balanced equations for the

formation of A and B

Watch Video Solution

NaOH

K2HgI4

BaCI2

K2Cr2O7

H2SO4

13. Give reason in one two sentence for the following ''The hydroxide of

aluminum and iron are insoluble in water. However, NaOH is used to

separate one from other .''

Watch Video Solution

https://dl.doubtnut.com/l/_dnc9ovX8iCos
https://dl.doubtnut.com/l/_TONjKHuX86UG
https://dl.doubtnut.com/l/_zX302xx10GC7


14. In the following reaction , identify the compound / reaction

condition represented by A and B 

Watch Video Solution

PbS
Heat in air
−−−−−→ AA + PbS

B
−−→ Pb + SO2

15. A light bluish-green crystalline compound responds to the following

tests: 

(i). Its aqueous solution gives a brown precipitate on reaction with

alkaline  solution. 


(ii). Its aqueous solution gives a blue colour with 

solution. 

(iii). Its solution in hydrochloric acid gives a white precipitate with

 solution. Identify the ions present and suggest the formula of

the compound.

Watch Video Solution

K2[HgI4]

K3[Fe(CN)6]

BaCl2

https://dl.doubtnut.com/l/_zX302xx10GC7
https://dl.doubtnut.com/l/_suqKx0Z05Mus


16. The acidic aqueous solution of ferrous ion forms a brown complex in

the presence of  by the follwing two steps: 


 


 


Complete and balance the equations .

Watch Video Solution

NOΘ
3

[Fe(H2O)6]
2 +

+ NOΘ
3 + H ⊕ → … + [Fe(H2O)6]

3 +
+ H2O

[Fe(H2O)6]
2 +

+ … → … + H2O

17. An orange solid  on heating gave a green residue , colourless

gas  and water vapour. The dry gas  on passing over heated

magnesium gave a white solid  on reaction with water have a

gas  which formed dense white fumes with . Indentify  to 

 and give the reactions.

Watch Video Solution

(A) (B)

(C) (C)

(D). (D)

(E) HCl (A)

(E)

https://dl.doubtnut.com/l/_Oq9MeDm8ewOv
https://dl.doubtnut.com/l/_PV9Y9ioVdJNi


18. A scalet compound A is treated with concenbtrated to gave a

chocolate brown precipitate B. The precipitate is filtered and the filtrate

is neurralised with NaOH Addition of KI to the resulting solution gives a

yellow precipitate C the brown precipitate B on warming with

concentrated in the presence of  produces a pink

coloured solution due to the formation of D identify A, B,C, and D write

the reaction sequence.

Watch Video Solution

HNO3

HNO3 Mn(NO3)2

19. On gradual addition of  solution to  solution initially

produces a dark brown precipitate which dissolves in excess of  to

give a clear yellow solution. Given an explanation for above

observations.

Watch Video Solution

KI Bi(NO3)3

KI

https://dl.doubtnut.com/l/_Sq6g0w7OBbNe
https://dl.doubtnut.com/l/_V4E19Xap0ZJI


20. Calcium burns in nitrogen to produce a white powder which

dissolves in sufficient water to produce a gas (A) and alkaline solution.

The solution on exposure to air produce a thin solid layer of (B) on the

surface. Identity the compound (A) and (B)

Watch Video Solution

21. A colourless inorganic salt  decomposes completely at about

 to give only two products  and , leaving no residue. The

oxide  is a liquid at room temperature and neutral to litmus paper

while the gas  is a neutral oxide. White phosphorous burns in

excess of  to produce a strong white dehydrating agent. Write

balanced equations for the reactions involved in this process.

Watch Video Solution

(A)

250∘C (B) (C)

(C)

(B)

(B)

https://dl.doubtnut.com/l/_HXuxYgpn2i4g
https://dl.doubtnut.com/l/_zKfoYxLtVSnx


22. Element (A) burns in nitrogen to give an ionic compound,  reacts

with water to give (C) and (D). A solution of (C) becomes milky on

bubbling carbon dioxide. Idendity (A),(B),(C) and (D)

Watch Video Solution

(B)

23. During the quation analysis of a mixture containing

 gas is passed therough an acidified

solution containing these ions in order to test  alone explane

Watch Video Solution

Cu2 + and Zn2 + ionsH2S

Cu2 +

24. An aqueous solution containing one mole of  and two moles of

NaI is orange in colour. On addition of excess NaI the solution becomes

colourless. The orange colour reappears on subsequent addition of

NaOCl. Explain with equation.

Watch Video Solution

HgI2

https://dl.doubtnut.com/l/_FNnNFLkkhp5W
https://dl.doubtnut.com/l/_ZNbdHQqAsjKv
https://dl.doubtnut.com/l/_VpVpDSqUluhE


25. A white solid is either  or . A piece of red litmus paper

turns white when it is dipped into a freshly made aqueous solution 

of the white solid. 

a. Identify the substance and explain the balanced equation. 

b. Explain what would happen to the red litmus if the white solid 

were the other compound.

Watch Video Solution

Na2O Na2O2

26. Write theh chemical reaction associated with the ''brown ring test''

Watch Video Solution

27. An aqueous blue-coloured solution of a transition metal sulphate

reacts with  I acidic medium to give a black precipitate A which is

insoluble in warm auqous solution of KOH. The blue solution on

H2S

https://dl.doubtnut.com/l/_VpVpDSqUluhE
https://dl.doubtnut.com/l/_cW3hAAXQjxKK
https://dl.doubtnut.com/l/_Q9G97Ebsexu2
https://dl.doubtnut.com/l/_dPJyD0W4oFlE


treatment with KI in weakly acidic medium turns yellow and produces a

white precipitate B. Identify the transition metal ion. write the chemical

reactions involved in the formation of A and B.

Watch Video Solution

28. Write the chemical reactions associated with the 'borax' best 'test'

of cobalt  oxide.

Watch Video Solution

(II)

29. A white substance A reacts with dilute  is produce a

colourless B and acidified  solution produces a green solution

and a slighly coloured precipitate D .The substance B to burns in air to

produce a gas E which reacts with B ito yied D and a colouless liquid

.Anhyhdrous copper sulphate is turned blue on addition of this

colourless liquid addition od aqueous  to C produce

first a precipitate which dissolve in the excess of the respective reagent

H2SO4

K2Cr2O7

NH3 or NaOH

https://dl.doubtnut.com/l/_dPJyD0W4oFlE
https://dl.doubtnut.com/l/_WYEfMSrgX20b
https://dl.doubtnut.com/l/_dlvYo80HJIMa


to produce a clear solution in each case identify A,B,C, and E. Write the

equation of the reaction involved.

Watch Video Solution

30. When a white crystalline compound X is heated with  and

concentrated  a reddish brown gas A is evolved On passing A

into saustic soda solution ,a yellow coloured solution of B with acetic B

is obtained .Neutradiding the solution of B with acetic acid and on

obtaijned when X of lead acetate with NaOH solution precipitate C is

obtained when X is heated with NaOH solution a coloueless gas is

evolved and on passing the gas into  solution a reddish brown

precipitate D is formed identify A,B,C and D and X write the equation of

the reaction involved.

Watch Video Solution

K2Cr2O7

H2SO4

K2HgI4

https://dl.doubtnut.com/l/_dlvYo80HJIMa
https://dl.doubtnut.com/l/_t72P2Dkm3wQL


31. Identify the following: 

 


Also mention the oxidation state of S in all the compounds.

Watch Video Solution

Na2CO3

So2

−−→ A
Na2CO3

−−−−→ B
Element s
−−−−−→

Δ
C

I2

−−→ D

32. (i) Give the constituents of baking powder
 (ii) Why cake or bread

swells on adding baking powder? Write chemical equation.

Watch Video Solution

33.  is insoluble in andydrous HF but when little KF is added to the

compounds it becomes soluble. On addition of  is

precipitated Write the balanced chemical equation .

Watch Video Solution

AlF3

BF3, AlF3

https://dl.doubtnut.com/l/_lCfTAvGcsn9d
https://dl.doubtnut.com/l/_k2qJRb3Ipcsh
https://dl.doubtnut.com/l/_gZWk2tmy9e9y


Ex 8.1

34.  


Identify the metal  and hence . Explain the difference in colour

of  and A.

Watch Video Solution

B
White fumes
having smell

Moist air
←−−−− MCI4

M=Transition
element colourless

Zn
−−→ A

Purple
colour

M MCl4

MCl4

1. Name the natural source of each of the following acid
 (i) Citric acid.

(ii)Oxalic acid.
(iii)Lactic acid. (iv)Tartaric acid.

Watch Video Solution

2. An aqueous solution of salt (A) gives a give a white precipitate ( B)

with sodium chloride solution . Compound ( B) dissolves in hot water

and the solution on treatment with sodium iodide give a yellow

precipitate ( D) ,. and on passing  through solution ( B) gives aH2S

https://dl.doubtnut.com/l/_mRXjbOyzQqIb
https://dl.doubtnut.com/l/_R6ufcV3Jj8tR
https://dl.doubtnut.com/l/_EkOyOHZmogpM


black ppt . (C) . Compound (A) does not give any gas with dil , but

liberates a reddish brown gas on heating identify compounds (A), (B), (

C) , and (D) .

Watch Video Solution

HCl

3. A white amorphous powder (A) when heated gives a colourless gas

(B), which turns lime water milky and the residue (C) which is yellow

when hot but white when cold. The residue (C) dissolves in dilute 

and the resulting solution gives a white precipitate on addition of

potassium ferrocyanide solution. (A) dissolves in dilute  with the

evolution of a gas which is identical in all respects with (B). The solution

of (A) as obtained above gives a white precipitate (D) on addition of

excess of  and on passing . Another portion of this

solution gives initially a white precipitate (E) on addition of 

which dissolves in excess of it. Compounds (A) to (E) are identified as:

Watch Video Solution

HCl

HCl

NH4OH H2S

NaOH

https://dl.doubtnut.com/l/_EkOyOHZmogpM
https://dl.doubtnut.com/l/_KbXuWNQVRIcI
https://dl.doubtnut.com/l/_7xww4zqUp8ya


4. How can we detect presence of Carbon dioxide in reaction?

Watch Video Solution

5. Can we directly obtain metals from their sulhpide ores?

Watch Video Solution

6. Calcination is done in excess supply of Air. True/False.

Watch Video Solution

7. Identify A to D 

https://dl.doubtnut.com/l/_7xww4zqUp8ya
https://dl.doubtnut.com/l/_lusdpxR6ojDl
https://dl.doubtnut.com/l/_mH5rBLtHOfIo
https://dl.doubtnut.com/l/_hkCcUkVbhqN6


Watch Video Solution

8. Identify A 

Watch Video Solution

https://dl.doubtnut.com/l/_hkCcUkVbhqN6
https://dl.doubtnut.com/l/_tKLpZRqmyHVW


9. Identify A to G 

Watch Video Solution

10. Identify A to D 

Watch Video Solution

https://dl.doubtnut.com/l/_toaG7ofS4Xm2
https://dl.doubtnut.com/l/_4C7nBXPbXS18


11. Identify A to E 

Watch Video Solution

12. Identify A to H 

Watch Video Solution

https://dl.doubtnut.com/l/_HVqFuT9Q5ltN
https://dl.doubtnut.com/l/_BWaECC1rh0NU


13. Identify A to C 

Watch Video Solution

14. Identify A to D 

https://dl.doubtnut.com/l/_EixWOd4rKxxG
https://dl.doubtnut.com/l/_3TzPpOQTKNRX


Ex 8.2

Watch Video Solution

1. Yellow coloured solution of  changes in light green when

A.  is added

B.  is added

C.  gas is added

D. All true

Answer: d

Watch Video Solution

FeCl3

SnCl2

Zn

H2S

2.  does not give blue colour with  but on its

reaction with (X) ,blue colour oppears (X) can be

Fe2 + K4[Fe(CN)6]

https://dl.doubtnut.com/l/_3TzPpOQTKNRX
https://dl.doubtnut.com/l/_GGyvtt6C3LOo
https://dl.doubtnut.com/l/_uyMq593Be9ng


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

MnOΘ
4 /H ⊕

H2SO4

NH3

HCI

3.  and  ppt are sepurated by

A. Aq 

B. 

C. 

D. 

Answer: c

W t h Vid S l ti

Fe(OH)3 Cr(OH)3

NH3

HCI

NaOH /H2O2

H2SO4

https://dl.doubtnut.com/l/_uyMq593Be9ng
https://dl.doubtnut.com/l/_p0sjzOgpxCXg


Watch Video Solution

4. Turnbull's blue and Prassian's blue respectively are 

I.  


II.  ,III.  ,II.  


IV

A. I,III

B. I,III

C. III,IV

D. IV,III

Answer: c

Watch Video Solution

FeII[FeII(CN)6]
2 −

FeIII[FeIII(CN)6] FeII[FeIII(CN)6]
Θ

FeIII[FeII(CN)6]
Θ

5. Which of the following are soluble in excess of 


(X) :  ,(Y) :  ,(Z) : 

NaOH

As2S3 CuS AICI3

https://dl.doubtnut.com/l/_p0sjzOgpxCXg
https://dl.doubtnut.com/l/_bHso1kNMwPQ2
https://dl.doubtnut.com/l/_J51aQNF8AHIh


A. X,Y,Z

B. Y,Z

C. X,Z

D. X,Y

Answer: c

Watch Video Solution

6. A mixture on heating gave a gas used as an anaesthetic soluble in

water forming cis , and trans dibasic acid  of gas occupes  at 

 mixture contain

A. 

B. 

C. 

D. 

1.1g 0.56L

STP

NaNO3 + NH4CI

NaNO2 + NH4CI

CaCO3 + MgCO3

NH4CI + NaSO4

https://dl.doubtnut.com/l/_J51aQNF8AHIh
https://dl.doubtnut.com/l/_9y7OKjZ32KRg


Answer: a

Watch Video Solution

7. Aqueous solution contains

 on passing 

 gas, therte is a precipitate of ……. As sulphide

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

Zn(CH2COO)2, Cd(CH3COO)2 and Cu(CH3COO)2

H2S

Zn2 + , Cd2 +

Cu2 + , Cd2 +

Zn2 + , Cu2 +

Zn2 + , Cu2 + , Cd2 +

https://dl.doubtnut.com/l/_9y7OKjZ32KRg
https://dl.doubtnut.com/l/_QQIuImiQvUPc


8. Ferric alum gives deep red colour with  due to the

formation of 

A. 

B. 

C. 

D. `

Answer: c

Watch Video Solution

NH4SCN

:

AI(SCN)3

[Fe(SCN)3]
Θ

Fe(SCN)3

Fe(SCN)3]
2 +

9. Colourless salt  coloured bead (Z). (X) can be

A. borax

B. micro cosamic salt

C. both (a) and (b)

(X)
Δ

−−→ (Y )
Cu2 + , Δ
−−−−−→

https://dl.doubtnut.com/l/_UGKY59s42NaC
https://dl.doubtnut.com/l/_kLNpyrlzgiMV


D. none

Answer: c

Watch Video Solution

10.  is

reddish brown coloured gas soluble in  forming 

are

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

KCI + concH2SO4 + K2Cr2O7

Δ
−−→ (X)

NaOH
−−−→ (Y ), (X)

NaOH

(Y ), (X) and (Y )

Cr2OCI2Na2CrO3

Cr2O2CI2Na2CrO3

CrO2CI2Na2CrO6

CrO2CI2Na2CrO4

https://dl.doubtnut.com/l/_kLNpyrlzgiMV
https://dl.doubtnut.com/l/_QbQN3IoVRmom
https://dl.doubtnut.com/l/_pqPrBb0F9TkV


11. Aqueous solution of  , gives yellow ppt with

A. 

B. 

C. both

D. none

Answer: c

Watch Video Solution

BaBr2

K2CrO4

AgNO3

12.  


The change is based on change in pH, the probable values of x and y

can be

A. 

B. 

Cr2O
2 −
7

Orange

pH =x

−−−−→
←−−−−−

pH =y

CrO
2 −
4

green

8, 6

8, 10

https://dl.doubtnut.com/l/_pqPrBb0F9TkV
https://dl.doubtnut.com/l/_TEmRWKyfouX5


C. 

D. change is independent of pH

Answer: a

Watch Video Solution

4, 6

13.  would separate the following in 

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

H2S pH < 7

Zn2 + , Co2 +

Cu2 + , Cd2 +

Cu2 + , Cr3 +

Cu2 + , As3 +

https://dl.doubtnut.com/l/_TEmRWKyfouX5
https://dl.doubtnut.com/l/_pNFIwLUun9r4


14. Solution of (X) in dil  white turbidily 

back ppt (Y),(Y) is soluble in

A. 

B. YAS

C. 

D. HCI

Answer: c

Watch Video Solution

HCl + H2O → (X)
H2S /HCI

−−−−−→

NaOH

HNO3

15.  blue precipitate

anbydride (in enthereal layer) Blue colour is due to

A. 

B. 

K2Cr2O7 + concH2SO4 + H2O2ether →

CrO3

H2CrO4

https://dl.doubtnut.com/l/_EekVA1WkXXRd
https://dl.doubtnut.com/l/_nxqy7NdwLwzk


C. 

D. 

Answer: d

Watch Video Solution

H2Cr2O3

CrO5

16. There is foul small in presence of moisture with

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

AICI3

AI2(SO4)3

FeS

FeSO4

https://dl.doubtnut.com/l/_nxqy7NdwLwzk
https://dl.doubtnut.com/l/_AofBOA1hp14s


17. given white ppt with hypo changing to black after some time

.Black ppt is of

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

AgNO3

Ag2S2O3

Ag2SO4

Ag2S4O6

Ag2S

18.  and  both turn lime water (A) milky coloured ,  also

turns  green while  is soluble in pyrogallol (C )

turning it black .These gases are to be detected in order by using these

reagents .The order is

A. (A),(B) ,(C )

SO2 CO2 SO2

K2Cr2O7 /H ⊕ (B) O2

https://dl.doubtnut.com/l/_ZqD8KNFcVVIs
https://dl.doubtnut.com/l/_h5Sf4GMLxXch


B. (B),(C) ,(A)

C. (B),(A) ,(C )

D. (A),(C) ,(B)

Answer: c

Watch Video Solution

19. Aluminium sulphate (X) is slightly insoluble in water it is converted

into soluble sulphate by using  in the precipitate of sodium

carbonate extract .Mole of  required for complete conversion

of  mole of (X) into soluble is

A. 

B. 

C. 

D. 

Na2CO3

Na2CO3

1

1

2

3

4

https://dl.doubtnut.com/l/_h5Sf4GMLxXch
https://dl.doubtnut.com/l/_5nBwd0mV1noi


Answer: c

Watch Video Solution

20.  gives blue colour with  due to formation of

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

CoCI2 NH4SCN

(NH4)2[Co(SCN)4]

(NH4)4[Co(SCN)6]

(NH4)3[Co(SCN)6]

(NH4)[Co(SCN)4]

21.  ,(A) and (B) respectively areHgCI2 + excess ofKI → (A) −−→
NH3

(B)

https://dl.doubtnut.com/l/_5nBwd0mV1noi
https://dl.doubtnut.com/l/_absWjv88MFp1
https://dl.doubtnut.com/l/_Bv1mmL7x9VRE


A. 

B. 

C. both (X)

D. both (Y)

Answer: a

Watch Video Solution

(Y ), (X)

22.  can be used to test ion or more out of 

A. only

B. 

C. 

D. all

NH4SCN

Fe3 + , Co2 + , Cu2 +

Fe3 +

Co2 + , Cu2 +

Fe2 + , Cu2 +

https://dl.doubtnut.com/l/_Bv1mmL7x9VRE
https://dl.doubtnut.com/l/_CLPA62rmy7Jh


Answer: d

Watch Video Solution

23.  can be used to detect one or more out of 

A. 

B. 

C. all but 

D. all but 

Answer: d

Watch Video Solution

K4[Fe(CN)6]

Fe2 + , Fe3 + , Zn2 + , Cu2 + , Cd2 +

Fe2 + , Fe3 +

Fe3 + , Zn+ , Cu2 +

Fe2 +

Fe2 +

24. Aqueous solution of borax reacts with two moles of acid. This is

because of :

https://dl.doubtnut.com/l/_CLPA62rmy7Jh
https://dl.doubtnut.com/l/_K8M9l5gxPv0c
https://dl.doubtnut.com/l/_uBE5pRHXDBeC


A. formation of  mol of  only

B. formation of  mol of  only

C. formation of  mol each of  and only

D. formation of  mol each of  and  of which

 reacts with acid

Answer: d

Watch Video Solution

2 B(OH)3

2 [B(OH)4]
Θ

1 B(OH)3 [B(OH)4]
Θ

2 [B(OH)4]
Θ

B(OH)3

[B(OH)4]
Θ

25.  is soluble in  due to formation of

A. 

B. 

C. 

D. 

Ag2S NaCN

Na[Ag(CN)2]

Ag(CN)2

Na2[Ag(CN)3]

Na2[Ag(CN)2]

https://dl.doubtnut.com/l/_uBE5pRHXDBeC
https://dl.doubtnut.com/l/_ZYRA5PycX0hb


Answer: a

Watch Video Solution

26. A compound give violet flame rest and gives a white ppt with

 .The compound is

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

AgNO3

NaCI

KCI

BaCI2

CaCI2

27. Bromine vapours turms ……..paper blue

https://dl.doubtnut.com/l/_ZYRA5PycX0hb
https://dl.doubtnut.com/l/_0jLMG3Zc3Q57
https://dl.doubtnut.com/l/_rgQAfT99E3L6


A. Starch iodide

B. Starch

C. Lead acetate

D. Methyl orange

Answer: a

Watch Video Solution

28. Solution of a salt in sulphanilic acid a naphithy lamine give red ppt

,due to

A. 

B. 

C. 

D. 

Answer: b

BrΘ

I Θ

NOΘ
2

NOΘ
3

https://dl.doubtnut.com/l/_rgQAfT99E3L6
https://dl.doubtnut.com/l/_RsCpMkv1Sh3Z


Watch Video Solution

29. Solution of a salt in dil  produces deep blue colour with

starch iodide solution .The salt contains

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

H2SO4

BrΘ

I Θ

NOΘ
2

NOΘ
3

30. The gas which turns mercurous nitrate paper black is

A. NH3

https://dl.doubtnut.com/l/_RsCpMkv1Sh3Z
https://dl.doubtnut.com/l/_BrN9CneugaBJ
https://dl.doubtnut.com/l/_0pTf46iIj5EU


B. 

C. 

D. 

Answer: a

Watch Video Solution

CI3

SO2

SO3

31. A mixture when heated with dil  does not evolve brown

vapours but when heated with conc , brown vapours are

obtained. with  soin do not give any precipitate .The mixture

contain

A. 

B. 

C. 

D. 

H2SO4

H2SO4

AgNO3

NOΘ
2

NOΘ
3

I Θ

BrΘ

https://dl.doubtnut.com/l/_0pTf46iIj5EU
https://dl.doubtnut.com/l/_ihzennV4kozD


Answer: b

Watch Video Solution

32. To solution of a salt in acid medium  is added a white ppts

repidly changing to yellow orange , brown and finaly black ppt is

obtained .This isd due to the presence of

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

AgNO3

SO2 −
3

S2O
2 −
3

CH3COO
Θ

S Θ
2

https://dl.doubtnut.com/l/_ihzennV4kozD
https://dl.doubtnut.com/l/_MBcMzD0MsIsn


33. Nitrite and nitrite both respond to ring test Nitrate are removed by

heating with

A. conc 

B. 

C. Conc 

D. 

Answer: b

Watch Video Solution

HNO3

NH4CI

H2SO4

MnO2

34. Which of the following metal oxide is white in colour but become

yellow on heating

A. 

B. 

AgO

ZnO

https://dl.doubtnut.com/l/_tcN8OawHWyEP
https://dl.doubtnut.com/l/_QiOCpi9yEwdb


C. 

D. 

Answer: b

Watch Video Solution

Ag2O

FeO

35. Chromyl chloride test is preformed for the detection of  A salt

solution containing  ion is heated with  and cone 

 orange red vapour of are obatined .On passing

these supour through a soln of  a yellow ppt ,due to 

is obtained if these vapour are dissolve in  and acetin acid and

lead acetate solution is added then

A. The solution will remain colour less

B. The solution will become dark green

C. The solution will become brown

D. A yellow ppt will be obtained

CI Θ

CI Θ K2Cr2O7

H2SO4 CrO(2)CI2

NaOH Na2CrO2

H2O

https://dl.doubtnut.com/l/_QiOCpi9yEwdb
https://dl.doubtnut.com/l/_BSER0x8KrlKH


Answer: d

Watch Video Solution

36. The chromyl chloride test responds poorly with the chlorides of

 so  but fail with the chlorides of

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

Pb, Ag Sn

Hg

As

Bi

Cu

37. When a salt is heated with dil  and  solution the

pink colour of  is dicharged, the mixture may contain

H2SO4 KMnO4

KMnO4

https://dl.doubtnut.com/l/_BSER0x8KrlKH
https://dl.doubtnut.com/l/_7rxPZmDgPihV
https://dl.doubtnut.com/l/_DORjMs8Dg6I6


A. Sulphite

B. Carbonate

C. Nitrate

D. Bicarbonate

Answer: a

Watch Video Solution

38. Ring test for mirates conformed by acidifying prepared  soin

a brown ring is formed that to the formation of 

This rest should not be performed for nitrate ion in presence of

A. 

B. 

C. 

D. All

FeSO4

[Fe(H2O)3NO[SO4

NOΘ
2

BiΘ

I Θ

https://dl.doubtnut.com/l/_DORjMs8Dg6I6
https://dl.doubtnut.com/l/_mRQ89s9P4tnY


Answer: d

Watch Video Solution

39. Soda extract of a salt solution in acidified with excess of dil

 and  soin is added A white ppt insolable in 

 confurm of

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

CH2COOH CaCI2

CH3COOH

C2O
2 −
4

CO2 −
3

HCOΘ
3

S2O
2 −
3

https://dl.doubtnut.com/l/_mRQ89s9P4tnY
https://dl.doubtnut.com/l/_KjW2HW3KjrPz


40. When  water is added to an aqueous solution of potassium

halide in presence of chloroform, a violet colour is obtained upon

shaking. This confirms the presence of

A. 

B. 

C.  present

D.  and 

Answer: a

Watch Video Solution

Cl2

I Θ

BrΘ

CI Θ

I Θ BrΘ

41. The first group reagent is dil HCI, which of the following do not

belong to group l?

A. 

B. 

Ag⊕

Pb2 +

https://dl.doubtnut.com/l/_LnwMD95i5Lkx
https://dl.doubtnut.com/l/_1RfYUu6TQPjo


C. 

D. 

Answer: d

Watch Video Solution

Hg2 +
2

Cd2 −

42. Which of the following is not precipitate by  in presence of 

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

H2S

NH3

Ca2 +

Mn2 +

Fe3 +

Cd2 +

https://dl.doubtnut.com/l/_1RfYUu6TQPjo
https://dl.doubtnut.com/l/_C8QZWf8gR4YW


43. A white ppt obtained in the anylsis of a mixture becomes black on

treatment with  it may be

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

NH4OH

Hg2CI2

HgCI2

PbCI2

AgCI

44. When excess of  is added to a soin of  a white ppt

turning grey is obtained the grey colour is due to the formation of

A. 

B. 

SnCl2 HgCl2

Hg2Cl2

SnCl4

https://dl.doubtnut.com/l/_7IjIzk85i9Ts
https://dl.doubtnut.com/l/_yaNuIbVLIqIL


C. 

D. 

Answer: d

Watch Video Solution

Sn

Hg

45. A white ppt obtained in the analysis of a mixture becomes black on

treatment with  or  due to the formation of finely divided

Hg and Hg  i.e.  The salt may be

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

NH3 NH4OH

(NH2)CI [Hg + Hg(NH2)CI]

PbCI2

AgCI

Hg2CI2

Hg2CI2

https://dl.doubtnut.com/l/_yaNuIbVLIqIL
https://dl.doubtnut.com/l/_XIbu6T0Pm4b2


46. Which of the following ions give coloured aqueous solution?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Ni2 +

Cu⊕

Cu2 +

Fe2 +

47. Which of the following is insoluble in dil 

A. 

B. 

C. 

HNO3

HgS

PbS

Bi2S3

https://dl.doubtnut.com/l/_XIbu6T0Pm4b2
https://dl.doubtnut.com/l/_cE2OmLJZ2yV1
https://dl.doubtnut.com/l/_xSCMW9hFlBV0


D. 

Answer: A

Watch Video Solution

CuS

48. Which of the following sulphate is insoluble in 

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

H2O

CuSO4

PbSO4

CdSO4

Bi(SO4)3

49. Which one has the minimum solubility product ?

https://dl.doubtnut.com/l/_xSCMW9hFlBV0
https://dl.doubtnut.com/l/_9nVWVWcujLB3
https://dl.doubtnut.com/l/_DnINyRIr35Zk


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

AgCI

AICI3

BaCI2

NH4CI

50. When  is passed through an ammonium salt solution X, a white

ppt is obtained .The X can be a

A. Cobalt salt

B. Zinc salt

C. Nickel salt

D. Manganese salt

Answer: b

H2S

https://dl.doubtnut.com/l/_DnINyRIr35Zk
https://dl.doubtnut.com/l/_1XslUlK5kZtH


Watch Video Solution

51. With  ions  gives a ……..ppt of 

(Cupric ferro cyanide)

A. Blue

B. Green

C. chocolate

D. White

Answer: c

Watch Video Solution

Cu2 + [F (CN)6]
4 −

Cu2[Fe(CN)6]

52. With  ions  gives a ……..ppt of 

A. Blue

Co2 + [Fe(CN)6]
3 −

Co3[Fe(CN)6]

https://dl.doubtnut.com/l/_1XslUlK5kZtH
https://dl.doubtnut.com/l/_l689kvWRCxcq
https://dl.doubtnut.com/l/_1wSWFn8pXdI7


B. raddish brown

C. chocolate

D. Green

Answer: b

Watch Video Solution

53. With  ions  gives a ……..ppt of 

which is soluble in acelone`

A. Blue

B. Green

C. chocolate

D. raddish brown

Answer: a

Watch Video Solution

Co2 + NH4SCN (NH4)2[Co(CNS)4]

https://dl.doubtnut.com/l/_1wSWFn8pXdI7
https://dl.doubtnut.com/l/_o7yf1kccVb6W


54. Lead has been placed in qualitative group analysis 1st and 2nd

because

A. It shows the valency of one and two

B. It is partly soluble in 

C. It forms insoluble 

D. It from lead sulphide

Answer: b

Watch Video Solution

H2O

PnCI2

55. With ions  gives prussian blue colouration due

to the formation of ferri- ferro cyanide  while with 

 ion gives……. Colouration

Fe3 + [Fe(CN)6]
4 −

Fe[Fe(CN)6]
2

NH4SCN, Fe3 +

https://dl.doubtnut.com/l/_o7yf1kccVb6W
https://dl.doubtnut.com/l/_ZZiwNil1z5MP
https://dl.doubtnut.com/l/_dvFOsakb5mts


A. Deep red

B. Blue

C. Brown

D. Green

Answer: a

Watch Video Solution

56. A metal chloride on heating with  gives a yellow ppt

insoluble in acetic acid .The metal may be

A. Hg

B. Zn

C. Pb

D. Ag

Answer: c

K2Cr2O7

https://dl.doubtnut.com/l/_dvFOsakb5mts
https://dl.doubtnut.com/l/_hTedIWirizcT


Watch Video Solution

57. With ions  ions gives …ppt

A. Blue

B. chocolate

C. raddish brown

D. Bluish white

Answer: d

Watch Video Solution

Zn2 + [Fe(CN)6]
4 −

58. which among the following pairs of ions cannot be separated by

 in the presence of dilute  ?

A. 

H2S HCl

AI 3 + , Hg2 +

https://dl.doubtnut.com/l/_hTedIWirizcT
https://dl.doubtnut.com/l/_L7fwHAafVoXw
https://dl.doubtnut.com/l/_wcZ7bowV5fvw


B. 

C. 

D. 

Answer: c

Watch Video Solution

Zn2 + , Cu2 +

Bi3 + , Sn4 +

Ni3 + , Cu2 +

59. Which pair would not be expected to form precipitate when

solution are mixed?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

Fe3 + , Pb3 −
4

NH Θ
4 , CO2 −

3

Na⊕ , SO4 −
4

Na⊕ , S2 −
2

https://dl.doubtnut.com/l/_wcZ7bowV5fvw
https://dl.doubtnut.com/l/_qH3CjtkARmfV


60. Which one of the following can be used in place of  for

identification of the third group radicals?

A. NaCI

B. 

C. 

D. 

Answer: d

Watch Video Solution

NH4Cl

(NH4)2SO4

(NH4)2CO3

NH4NO3

61. Conc  is added before proceeding to test for group III. This is

to

A. Convert  ion  ion

HNO3

Fe+ 2 Fe+ 3

https://dl.doubtnut.com/l/_qH3CjtkARmfV
https://dl.doubtnut.com/l/_f4BvnTKVH8jY
https://dl.doubtnut.com/l/_hlvjU8c1c2SB


B. Oxidise any remaining 

C. From nitrate which give granular precipitate

D. Increases ionisation of 

Answer: a

Watch Video Solution

H2S

NH4OH

62. In IV th group the ppt of  in excess of  , turns

brown or blue in air due to the formation of

A. 

B. 

C. 

D. All

Answer: d

Watch Video Solution

Mn(OH)2 NaOH

MnO2. xH2O

MnO2

MnO2. H2O

https://dl.doubtnut.com/l/_hlvjU8c1c2SB
https://dl.doubtnut.com/l/_YNgq80lsKKTC


63.  is not precipitate in group V because

A.  in soluble in 

B.  in soluble in 

C.  in soluble in 

D. All

Answer: b

Watch Video Solution

Mg

MgCO3 H2O

MgCO3 NH4CI

MgCO3 NH4OH

64. In group V ,  is added to precipitate out the carbonate 

 is not added because

A.  is soluble in 

B.  will be ppt out in group V

(NH4)2CO3

Na2CO3

CaCO3 NaCO3

MgCO3

https://dl.doubtnut.com/l/_YNgq80lsKKTC
https://dl.doubtnut.com/l/_13wwSBVGmZ7x
https://dl.doubtnut.com/l/_iTrx9ogCFe1N


C.  increases the solublity of group V carbonates

D. All

Answer: d

Watch Video Solution

Na2CO3

65. DMG gives a rosy red crystalline ppt with

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

Zn2 +

Ni2 +

Cu2 +

Mn2 +

https://dl.doubtnut.com/l/_iTrx9ogCFe1N
https://dl.doubtnut.com/l/_yfEQKDnuJNqF


66. In the presence of dilute  results in the precipitation of

group II cations but not group IV cations during qualitative analysis. It

is due to :

A. HCI activate 

B. HCI increses cone of  due to common ion effect

C. HCI decreses cone of  due to common ion effect

D. HCI lowers the solubility of in soin

Answer: c

Watch Video Solution

HCl, H2S

H2S

CI Θ

S2 −

H2S

67. Prussian's blue is formed when  ions are added to 

 Prussian's blue is

A. 

B. 

Fe+ 2

K4[Fe(CN)6]

Fe4[Fe(CN)6]
3

Fe3[Fe(CN)6]
2

https://dl.doubtnut.com/l/_j2sZqvvjCCM3
https://dl.doubtnut.com/l/_glSCdU9g0T43


C. 

D. All

Answer: a

Watch Video Solution

Fe2[Fe(CN)6]

68. Turnbull's blue is formed when  ions are added to 

 Turnbull's blue is

A. 

B. 

C. 

D. All

Answer: b

Watch Video Solution

Fe+ 2

K3[Fe(CN)6]

Fe4[Fe(CN)6]
3

Fe3[Fe(CN)6]
2

Fe2[Fe(CN)6]

https://dl.doubtnut.com/l/_glSCdU9g0T43
https://dl.doubtnut.com/l/_Oxzsqe20kmHH


69. If group IV the ppt of  dissolve in excess of  due to

the formation of

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

Zn(OH)2 NaOH

Na2ZnO2

NaZnO2

Zn

Na3ZnO2

70.  water in  soin .Oxidises  to a…. Ppt due to the

formation of 

A. Black

B. violet

Br2 NaOH Mn(OH)2

MnO(2)

https://dl.doubtnut.com/l/_SZYKXEHzlwtV
https://dl.doubtnut.com/l/_48dmaCL98crb


C. Blue

D. white

Answer: a

Watch Video Solution

71. Brown ppt ,of  on boiling with  and cone 

yields a pink colouration on dilution due to the formation of

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

Mn(OH)2 PbO2 HNO3

HMnO4

H2MnO4

Pb(MnO4)2

PbMnO3

https://dl.doubtnut.com/l/_48dmaCL98crb
https://dl.doubtnut.com/l/_q1YSOhZXyoWh


72. A precipitate of ……would be obtained on adding HCI to a solution of

 in yellow ammonium salphide

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

As2S3

As2S3

AsS3

As2S6

AsS2

73. A precipitate of ……would be obtained on adding HCI to a solution of

 in yellow ammonium salphide

A. SnS

B. 

Sns

Sn2S3

https://dl.doubtnut.com/l/_KyIl45P36irb
https://dl.doubtnut.com/l/_6mUDS8uhEpw8


C. 

D. 

Answer: c

Watch Video Solution

SnS2

(NH4)2SnS2

74. Which of the sulphides of group II is orange ?

A. CuS

B. CdS

C. 

D. 

Answer: d

Watch Video Solution

As2S3

Sb2S3

https://dl.doubtnut.com/l/_6mUDS8uhEpw8
https://dl.doubtnut.com/l/_spVQRs8V04pC


75. Which of the sulphides of group II is black or brownish black?

A. PbS

B. HgS

C. 

D. 

Answer: d

Watch Video Solution

Bi2S3

CdS or As2S3

76. On passing  gas into first group filtrate sometimes yellow

turbidity appears even in the absence of II group radicals, this is

because of:

A. Sulphate is present in the mixture as limpurity

B. Group IV radicals are precipitate as sulphides

H2S

https://dl.doubtnut.com/l/_Y5mQrPbzhTaa
https://dl.doubtnut.com/l/_XsLzTTsyZMQa


C. The oxidation of  gas by some acid radicals

D. Group II radicals are precipitate as hydroxides

Answer: c

Watch Video Solution

H2S

77. The sodium carbonate beat test in which  is used insteal of

borax .it is suitable to chromium and

A. Mn

B. Cu

C. Fe

D. Ni

Answer: a

Watch Video Solution

Na2CO3

https://dl.doubtnut.com/l/_XsLzTTsyZMQa
https://dl.doubtnut.com/l/_bJrejbLpbqgf


Viva Voce Questions And Part-A (Analysis Of Anions)

78. Orange coloured sodium cobaltinitrite  is used for

the detection of  which gives …… ppt due to the formation of pot

sod cobaltinitrite 

A. White

B. Orange

C. Yellow

D. Brown

Answer: c

Watch Video Solution

Na3[Co(NO3)6]

K Θ

K2Na[Co(NO2)6]

1. What is a group reagent ?

Watch Video Solution

https://dl.doubtnut.com/l/_JsW8u0ujAZKV
https://dl.doubtnut.com/l/_Tx9Y4alARYYM


2. Why sodium carbonate extract is used for testing acid radicals?

Watch Video Solution

3. Can we use sodium bicarbonate in place of sodium carbonate in

preparing an extract for detection of anions?

Watch Video Solution

4. Why is sodium carbonate extract acidified before perfoming the

confirmatory tests for anions?

Watch Video Solution

5. Can sodium carbonate extract be used test for  ions ?

Watch Video Solution

CO2 −
3

https://dl.doubtnut.com/l/_Tx9Y4alARYYM
https://dl.doubtnut.com/l/_FlO5BpRWB72U
https://dl.doubtnut.com/l/_gdkjNlXWAw1Q
https://dl.doubtnut.com/l/_ngYP7FIPQDMF
https://dl.doubtnut.com/l/_TJvfd6IahBMc


6. What is lime water?

Watch Video Solution

7. Why does lime water turns milky on bubbling  gas through it?

Watch Video Solution

CO2

8. Name the anions whch giive brown fumes on reacting with

dilute/conc. 

Watch Video Solution

H2SO4

9. Why does a paper soaked in  solution turn green in the

detection of  ion?

Watch Video Solution

K2Cr2O7

SO2 −
3

https://dl.doubtnut.com/l/_TJvfd6IahBMc
https://dl.doubtnut.com/l/_S1418NdMnHQ1
https://dl.doubtnut.com/l/_9dApGoAnXj7w
https://dl.doubtnut.com/l/_g0fBk0lXqjdg
https://dl.doubtnut.com/l/_rBJI24DhBNyG


Watch Video Solution

10. Can filter paper dipped in silver nitrate solution instead of lead

acetate paper be used for testing a sulphide?

Watch Video Solution

11. A gas evolved with effervescence on treating a salt with dil. HCl may

be  or . How will you distinguish between them?

Watch Video Solution

CO2 SO3

12. How will you distinguish between carbonate and bocarbonate ions?

Watch Video Solution

13. How can sulphide ions be distinguished from sulphite ions?

https://dl.doubtnut.com/l/_rBJI24DhBNyG
https://dl.doubtnut.com/l/_uXCRzn8Rgzsk
https://dl.doubtnut.com/l/_C39QCv2SyL8s
https://dl.doubtnut.com/l/_y8E0iAVMex4Z
https://dl.doubtnut.com/l/_s31lViEtUEv8


Watch Video Solution

14. How will you distinguish betweebn sulphate and thiosulphate ions?

Watch Video Solution

15. How will you distinguish between sulphite and sulphate ions?

Watch Video Solution

16. How can nitrite ion be distinguished from nitrate ion?

Watch Video Solution

17. What is the formula of compound present in brown ring?

Watch Video Solution

https://dl.doubtnut.com/l/_s31lViEtUEv8
https://dl.doubtnut.com/l/_NUeAtYlIn2TU
https://dl.doubtnut.com/l/_UAncywk6U9eN
https://dl.doubtnut.com/l/_AvRRDzJ2hJGH
https://dl.doubtnut.com/l/_ZzpXOFZtFeKs


18. Why is a freshly prepared solution of  used for the detection

of nitrate and nitrite?

Watch Video Solution

FeSO4

19. Why does only the organic layer assure colour and not the aqueous

layer when the tests for halides are done?

Watch Video Solution

20. What happens when chloride, bromide and iodide are separately

heated with conc. ?

Watch Video Solution

H2SO4

21. How do you distinguish between  and  ions?

Watch Video Solution

Br ɵ NO
ɵ

3

https://dl.doubtnut.com/l/_Xi2vkOOunkya
https://dl.doubtnut.com/l/_wBGeHVb7l1WM
https://dl.doubtnut.com/l/_neBuxjoa97kz
https://dl.doubtnut.com/l/_Q7ZMLEftzt37


22. Given salt is a bromide or iodide. How will you identify it by treating

the salt with chlorine water and ?

Watch Video Solution

CS2

23. Why does the chromyl chloride test fail with  and ?

Watch Video Solution

Br ɵ I ɵ

24. For testing  with  solution why should sodium

carbonate not be acidified with too much of conc. HCl.

Watch Video Solution

SO
2 −
4 BaCl2

25. Can lime water be employed for identification of  gas?

W h Vid S l i

CO2

https://dl.doubtnut.com/l/_Q7ZMLEftzt37
https://dl.doubtnut.com/l/_YjBuKqZPtpWJ
https://dl.doubtnut.com/l/_XqwiE6Lgmi77
https://dl.doubtnut.com/l/_v0uANhcGs7Se
https://dl.doubtnut.com/l/_QsAy68b4Te5c


Watch Video Solution

26. At times the solution of lime water appears milky. Comment.

Watch Video Solution

27. Name the gas other than  which also turns lime water milky.

Watch Video Solution

CO2

28. Why is it necessary to test for the acid radicals first (with dilute)

 and then with conc. ?

Watch Video Solution

H2SO4 H2SO4

29. What is chromyl chloride test? Why is it so named?

Watch Video Solution

https://dl.doubtnut.com/l/_QsAy68b4Te5c
https://dl.doubtnut.com/l/_zjmvlQ1Ca0hm
https://dl.doubtnut.com/l/_0GNSLtaQXGDY
https://dl.doubtnut.com/l/_0I8hJrWePUVW
https://dl.doubtnut.com/l/_ijmYwe5OoAYk


Viva Voce Questions And Part-B (Dry Tests)

30. Sodium carbonate extract is acidified with  only in the

identification of halides. Comment.

Watch Video Solution

HNO3

1. Why do salts of the following ions 

and  impart colour to the flame?

Watch Video Solution

Cu2 + , Ba2 + , Sr2 + , Ca2 + , Na⊕

K ⊕

2. Why is HCl employed in flme test?

Watch Video Solution

https://dl.doubtnut.com/l/_ijmYwe5OoAYk
https://dl.doubtnut.com/l/_tJopZBLjhUAd
https://dl.doubtnut.com/l/_ajn4ntNzuBhJ
https://dl.doubtnut.com/l/_jmU8VhNG3XNb


3. What type of flame is employed to perform the flame test? How is it

obtained?

Watch Video Solution

4. Why is a green flame not obtained in the case of barium sulphate or

phosphate?

Watch Video Solution

5. Can we perform the charcoal cavity test without the addition of

fusion mixture  and  with the carbonate of metals?

Watch Video Solution

(Na2CO3 K2CO3)

6. Why do we not perform borax bead test with the white salt?

Watch Video Solution

https://dl.doubtnut.com/l/_hhAUQ8QwYmhR
https://dl.doubtnut.com/l/_6a1hN5Bo9uQN
https://dl.doubtnut.com/l/_vNKkHWj9lASw
https://dl.doubtnut.com/l/_6tUFnhx41wF7


Viva Voce Questions And Part-C (Analysis Of Cations)

7. What is the composition of the bead obtained when borax is neated

in the flame?

Watch Video Solution

8. Why is a small quantitiy of mixture used in the borax beat test?

Watch Video Solution

9. Name the cations which can be identified by flame test.

Watch Video Solution

https://dl.doubtnut.com/l/_6tUFnhx41wF7
https://dl.doubtnut.com/l/_nTsfwyZYMYse
https://dl.doubtnut.com/l/_CFLQRr0Vrpm4
https://dl.doubtnut.com/l/_uohXOV3juLIs


1. Why is it necessary to prepare original solution for the detection of

basic radicals?

Watch Video Solution

2. Why do we not prefer to prepare original solution of cations in conc.

 or conc. ?

Watch Video Solution

H2SO4 HNO3

3. What is solubility product? Explain its importance in qualitative

analysis.

Watch Video Solution

4. What is the basis of classification of cations into different group ?

Watch Video Solution

https://dl.doubtnut.com/l/_mtlCmMektQMp
https://dl.doubtnut.com/l/_2WdAeJ4Uqklw
https://dl.doubtnut.com/l/_TJyBFIM9EXHk
https://dl.doubtnut.com/l/_xYo96tXBshTH


5. Why are only  and  ions precipitated in group I?

Watch Video Solution

Pb2 + , Ag⊕ Hg2 +
2

6. Why is lead placed in group I as well in II?

Watch Video Solution

7. Is it necessary to acidify a solution before group II cations are

precipitated with ?

Watch Video Solution

H2S

8. Give the reason for the formation of a light yellow or white ppt. in

the group II even if it may not be because of some metal ion.

W h Vid S l i

https://dl.doubtnut.com/l/_xYo96tXBshTH
https://dl.doubtnut.com/l/_yTlhvkBbo7E6
https://dl.doubtnut.com/l/_qQXy5RkaoBq6
https://dl.doubtnut.com/l/_uebM3IUGPn0e
https://dl.doubtnut.com/l/_2nMNux5wBHDe


Watch Video Solution

9. Why do we Prefer HCl for preparing solution of cations?

Watch Video Solution

10. Is it advisable to use conc. HCI in place of dilute HCI for preparing

original solution

Watch Video Solution

11. Why is it essential to boil off  gas before proceeding to group

III?

Watch Video Solution

H2S

https://dl.doubtnut.com/l/_2nMNux5wBHDe
https://dl.doubtnut.com/l/_GzwWvcPOaARe
https://dl.doubtnut.com/l/_jVg6urHAjrsg
https://dl.doubtnut.com/l/_6pRcreOuLP2c


12. Can the solution be acidified with  in group II before passing 

 gas?

Watch Video Solution

HNO3

H2S

13. What can it be, if the precipitate of group I is soluble in hot water

and insoluble in cold water?

Watch Video Solution

14. Why do we not prefer to prepare original solution of cations in conc.

 or conc. ?

Watch Video Solution

H2SO4 HNO3

15. Group I filtrate is made moderately acidic before proceeding to

group II. Expain.

https://dl.doubtnut.com/l/_aL28KlzGcUl4
https://dl.doubtnut.com/l/_Qhl70QVRBXod
https://dl.doubtnut.com/l/_BGaUeEeEzCJ2
https://dl.doubtnut.com/l/_ZGS5e9ws6Acd


Watch Video Solution

16. Why do we add excess of  and  in the precipitation

of group III cations?

Watch Video Solution

NH4Cl NH4OH

17. Why do we add excess of  and  in the precipitation

of group III cations?

Watch Video Solution

NH4Cl NH4OH

18. Why is it essential to oxidise ferrous salt to ferric salt in group III?

Watch Video Solution

https://dl.doubtnut.com/l/_ZGS5e9ws6Acd
https://dl.doubtnut.com/l/_zU4Vj3NwBlkk
https://dl.doubtnut.com/l/_c0n5PQtWqb5U
https://dl.doubtnut.com/l/_MSfvESTOgeoj


19. Can  be replaced by any other ammonium salt for the

precipitation of group III cations?

Watch Video Solution

NH4Cl

20. How will you distinguish between ferrous and ferric salts?

Watch Video Solution

21. Can we add  first and  later in the analysis of group

III cations?

Watch Video Solution

NH4OH NH4Cl

22. Can we use NaCla and NaOH in place of  and  in the

group III cation precipitation.

Watch Video Solution

Na4Cl NH4OH

https://dl.doubtnut.com/l/_XNq1xOyKhKki
https://dl.doubtnut.com/l/_ZBP7a9KfjN3a
https://dl.doubtnut.com/l/_4OmxuvsLSuIW
https://dl.doubtnut.com/l/_2zrkLnGC1Sph


23. Why are Zn,MnNi,Co not precipitated n the group III as hydroxides?

Watch Video Solution

24. Why are the group IV cations not precipitated as sulphides on

passing  gas through group II solution?

Watch Video Solution

H2S

25. Why is a brownish ppt. obtained in group II even if iron aluminium

and chromium are absent?

Watch Video Solution

https://dl.doubtnut.com/l/_2zrkLnGC1Sph
https://dl.doubtnut.com/l/_U8JUdJMYIfXu
https://dl.doubtnut.com/l/_HZwKL1YcViCW
https://dl.doubtnut.com/l/_pB1dlOHu4rng


26. Why sometimes, a black coloured precipitate obtained in group IV

even if nickel and cobalt ions are absent?

Watch Video Solution

27. Why excess of  is used in precipitating the sulphides of

group IV cations?

Watch Video Solution

NH4OH

28. Why sometimes colloidal precipitate is obtained in group IV?

Comment

Watch Video Solution

29. Why is  essential in the precipitation of group V cations?

Watch Video Solution

NH4Cl

https://dl.doubtnut.com/l/_n6jMoELPNQap
https://dl.doubtnut.com/l/_jzZbAjv6yEep
https://dl.doubtnut.com/l/_qxv5U3NSqdge
https://dl.doubtnut.com/l/_Npkz6IhpgTn4


30. Does the excess of  affect the precipitation of group V

cations by 

Watch Video Solution

NH4Cl

(NH4)2CO3 ?

31. Why are all aqueous solution of the cobaltous salts pink?

Watch Video Solution

32. At times  is added before adding  to

precipitate group V cations explain.

Watch Video Solution

NH4OH (NH4)2CO3

https://dl.doubtnut.com/l/_Npkz6IhpgTn4
https://dl.doubtnut.com/l/_l45q1DHl99jH
https://dl.doubtnut.com/l/_aQgcpgZFCFSz
https://dl.doubtnut.com/l/_ro6n7u2OM5Q6


33.  cannot be used in place of  for the

precipitation of group V because

Watch Video Solution

Na2CO3 (NH4)2CO3

34. Why is  not precipitated on adding ammonium sulphate to a

solution containing  and  ions?

Watch Video Solution

CaSO4

Ca2 + Sr2 +

35. At times warming is suggested while precipitating group V cation.

Explain.

Watch Video Solution

36.  cannot be used in place of  for the

precipitation of group V because

Na2CO3 (NH4)2CO3

https://dl.doubtnut.com/l/_mTFZzGHZTA6o
https://dl.doubtnut.com/l/_nolEeTA6e3PX
https://dl.doubtnut.com/l/_KKCB3nu1LqdC
https://dl.doubtnut.com/l/_mHrgSI81cHDA


Watch Video Solution

37. Why do we test group V cations in the order of Ba, Sr, and Ca?

Watch Video Solution

38. Why is only acetic acid employed for dissolving the group V ppt.?

Watch Video Solution

39. Sometimes no precipitate is obtained even if group V radicals are

present why ?

Watch Video Solution

40. Calcium oxalate is soluble in dilute HCl. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_mHrgSI81cHDA
https://dl.doubtnut.com/l/_3q8Jd6Zoy8x0
https://dl.doubtnut.com/l/_F54jI845yVP8
https://dl.doubtnut.com/l/_FHtEEJz1C2iu
https://dl.doubtnut.com/l/_xdzu8VXuFGbr


Watch Video Solution

41. Why is a precipitate of magnesium carbonate not fomred along with

the carbonates of Ba, Sr and Ca in group V?

Watch Video Solution

42. At time a white ppt. is obtained in group VI even in the absence of

Mg. explain.

Watch Video Solution

https://dl.doubtnut.com/l/_xdzu8VXuFGbr
https://dl.doubtnut.com/l/_rF1lpYV1yyB6
https://dl.doubtnut.com/l/_3SsyhwU1SHff

